I.   COMPENSATORY DAMAGES 

A.   The Basic Principle: Put the P in the “rightful position;” the position he would have been in but for the wrong.

1.   Two Theories/justifications for damages.

i.   Corrective justice: The D is morally required to restore the P to where he was. 

ii.   Kaltor-Hicks Economic Analysis: Economic efficiency rules should maximize overall social wealth so that the size of the pie can be as big as possible, regardless of distribution of the wealth.  Morality is irrelevant.  Efficient breach is good.
a.   While corrective justice adherent focus on how the rightful position compensates Ps, adherents to the economic analysis see how compensatory damages affect the incentives of Ds.

b.   (If you don’t compensate the Navajos, they will over-invest in protecting their land).
2.   Damages must be proven w/ sufficient certainty and on an individualized basis. 

i.   Damages must be proven w/ more certainty in contract than in tort.

ii.   Minority jdxns have a per se rule that new business cannot recover damages for lost profits b/c too speculative.  This precludes damages for businesses that get kicked out of a lease b/c they have no history of success.

iii.   When the difficulty in establishing damages is caused by the D’s wrongful conduct, he bears the risk of uncertainty. 
3.   Cts measure the rightful position differently in torts and K cases.  
i.   Torts cases only require reliance damages to put the P back to the “status quo ante.”

a.   Fraudulent Misrepresentations Exception – Breach of a promise in tort so P may recover expectancy damages.
1.   Traditional treatment – reliance damages only

–    Smith:  Plaintiff paid $6,000 and received stock worth 0.  C is $34,000.  Plaintiff paid $6,000 for stock alleged to have been worth $40,000. He expected a profit of $34,000.  Reliance damages:  B – A  or 0 - -6,000 = $6,000.   Expectancy damages: C – A or $34,000 - - 6,000= $40,000.  P was promised stock worth $40,000 and got something worth 0.  Ct gives reliance damages only b/c P sought damages in tort! 

2.   Modern treatment – some exceptions.  (CA permits some exceptions, particularly in cases involving fraud by fiduciaries).

ii.   Contracts cases involve a promise and therefore require expectancy damages to put the P where she would have been but for the D’s wrong.  Consider the gains that P failed to realize b/c of D’s breach.  
a.   The benefit of the bargain = the difference b/w what was promised and what was received,.  ( Chatlos:  Buyer promised a computer system which was supposed to do certain things; things that a computer worth 207k could do. A is $-40,020.  (P paid $46,020 and received a computer worth only 6k!)  C is $161,806.50.  (P paid $46,020 for a computer alleged to have been worth $207,826.50.)  He expected a profit of $161,806.50.  Expectancy damages:  C – A or $161,806.50 - - 40,020= $201,826.50.  Chatlos was promised a computer worth $207.826.50 and got something worth only $6,000.  Social policy:  Though it seems like we are giving a windfall to the gullible buyer, we are holding promisors responsible for what they promise, so they won’t promise the implausible and then defend on the ground that it was never possible anyway.
b.   Lost Volume Seller Scenario ( Neri: Seller has an unlimited supply of standard priced goods.  In that case, seller’s damages are not just limited to reliance damages, but to expectancy as well.
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c.   If expec damages are not proven w/ reasonable certainty, a Ct may award reliance damages.  
1.   Nose Job Hypo: Though the doctor promised the P a new nose in K, the Ct only permitted reliance damages b/c it would have been too speculative to determine how much the new nose would be worth.  Thus only B – A = 5k. 
C minus A --- where C represents the expectancy amount
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10k minus -5k = 15k.  
iii.   Tort v. K actions.  Although pleading a cause of action in K rather than tort may permit expectancy damages, there are reasons why a P may plead a cause of action in tort instead. 

a.   The tort cause of action might allow for punitive damages which are generally not allowed in K.
b.   The tort cause of action might make it easier to recover for certain consequential damages even if not foreseeable by the breaching party at the time of the contracting/misrepresentation. 
c.   The K cause of action might prove problematic (such as if there was not a valid K b/c the K was not in writing as required by the statute of frauds).  
4.   Market value as the ordinary measure of the rightful position.
i.   Market value provides an objective market measure for calculating P’s damages. 

a.   We don’t value the loss based on the subjective value to the P b/c they are too speculative.  (E.g, Imagine P didn’t accept an offer to move out for 500k; if her house was only worth 50k, that’s all that she’ll get even though she values her house way above market value). 
1.   One way that the law can allow subjective valuation in through the back door is to allow emotional distress damages.

b.   No subjective losses. ( Hatahley:  Gov took horses from native Americans and sold to glue factory.  TC fixed the value of each horse at $395.  The Ps did not prove the replacement cost of the animals, but relied upon a theory that the animals taken were unique b/c of their peculiar nature and training.  TC based value on what a horse could be traded for among Indians.
ii.   Determining market value in a well-functioning market (many buyers and sellers)
a.   Usual market values:
1.   Market value of lost or destroyed item.
2.   The difference between the value of an item before and after it was damaged.
3.   The difference b/w the value of the goods accepted (at the time and place of acceptance) and the value as warranted.

b.   Measure damages at the time of the loss.  
1.   Fluctuating markets.  Ordinarily market value is determined at time of the wrong.  But in cases involving items that fluctuate in value, such as stocks or crops, cts sometimes show greater flexibility.  
–    Stocks: Very generous to the Ps here, especially with D’s intentional wrongdoings.  P gets either: (1) the highest value between the time P learned of the loss and a reasonable time thereafter in which he could have replaced the stock or (2) the highest value b/w the time of the wrong and the time of trial.  

–    Similar kinds of issues arise when there is damage to a farmer’s crops before those crops have matured.  Assuming that a farmer may prove damages w/ reasonable certainty, a ct might allow damages measured from the time the immature crops would have been harvested rather than at the time of the loss.
2.   P bears the risk of change in the market especially where P could have mitigated damages. ( Decatur:  Soybean farmer wants the amount he would have sold his bushels for a year from now, which is his usual practice.  Ct doesn’t give that b/c too speculative, but does gives the amount he’d receive if he harvested them this year. 
c.   Use the cheapest method for the D. 
1.   Roof hypo.  Imagine you pay for a house and it comes done but w/o the roof.  It only costs 5k to add a roof – but a house with the roof would value at 70k more. You only get the cost to repair it.   

2.   E.g., the Redding case.  The value of the pipes as warranted minus the value of the pipes that they put in = 0.  Ct is not going to pay the amount of demolishing the home and installing new pipes (which the P didn’t want to do anyway, juts wanted a windfall). 
3.   If the market is functioning well, the market value of the lost item and the cost for a reasonable replacement will be about the same. ( 50 Acres of Land:  The US, condemned 50 acres of the P’s landfill to use it for flood control.  The issue was the proper measure of FMV.  The US wanted to use the FMV of the old landfill – 225k.  But the city wanted the reasonable cost of a substitute facility. (cost of replacement).  [They bought another landfill for 700k which was bigger than the pervious one and which would last longer.  Then they divided the amount of excess and came with 231k as the amount owed to them.   $723,624 * 13.3/41.6 =$231,351].  HELD:  the Ct says to use FMV to keep things simple.  They point out that, apparently, the two numbers are pretty damn close to each other and therefore FMV seems to work properly, so just use the administratively simpler option.  
d.   Subtract the expenses saved.
iii.   Damages in a non-well-functioning market.
a.   Lemons situation

1.   There is a particular problem of determining market value in the used household good area.  Prices are depressed b/c people’s old, beat up junk won’t get much, although it is still reliable, b/c buyers pay less assuming it could be a lemon. 
2.   In this situation, the market value of the refrigerator that was bought for $400 but is now worth $100 will be under-compensatory to the P who is forced to either buy a potential lemon w/ her 100 or get a new fridge. 
3.   Some Cts give you replacement costs in this situation although most don’t.  

b.   Landmarks ( Trinity: After the negligence of the construction next door, the church sues to recover for the structural damages.  The problem is that the church is a landmark and therefore there is no FMV for it.  Therefore, we use repair costs.  But the loss to the church is hard to determine b/c although it cut years from the life of the church it is otherwise unnoticeable and perfect to use.  Ct awards future damages by coming up with an amount to cover damages in 150 years, then using the “present value” method decreasing it by the compound interest rate. 
iv.   Non-economic losses: Damages that can’t be measured in dollars.
a.   Pain and Suffering: Personal injuries and death

1.   Not every loss has a potential repair or replacement value in a well functioning market.  The measure of pain and suffering/emotional distress is a jury question b/c there is no market for pain and suffering.  
2.   Two ways for the P to argue pain and suffering.

–    Per diem rule: Cts are split as to whether attorney’s may argue how much suffering the P will go through each day for the next X years.

–    Golden rule argument:  Attorney’s are NOT allowed to ask the jury how much they think it would cost if they suffered this accident.

3.   There are three types of actions for death cases.
–    Wrongful death actions.  Old law precluded recovery for wrongful death but later provided for pecuniary damages (loss of future support and inheritance).  Ironically, wrongful death damages are statutorily limited to be less generous than the typical tort measure available to P’s in cases that do not result in death.  
–    Survival Action.  Can get the amount the victim suffered before his death.  Even nominal damages then enable the P to then sue for punitives. 

–    Loss of Consortium claims.  Compensates the surviving family members for the “emotional distress that results from the death of a loved one.  Some states limit compensation to the absence of enjoyment (not for the grief).
4.   Must have an individualized determination for mental suffering.  The law doesn’t recognize “groups” or “communities” for the purpose of damages.  (Hatahley).
5.   In markets w/ few buyers or sellers (a collection of family home movies), cts sometimes allow recovery for their sentimental value as a non-economic emotional distress damage.

b.   Dignitary and Constitutional harms

1.   To recover for dignitary harm, damages must be severe.  ( Levka:  P was stripped searched in conformity w/ Chicago’s old law that all arrestees regardless of the nature of the crime were subject to such a search.  She was told to take off her clothes and bend over.  The Ct remitted the jury’s award of 50k holding that all comparable jury awards for the emotional trauma of a strip search included “aggravating circumstances,” such as being physically probed or verbally tormented during the search.

2.   Proof of a constitutional violation entitles the P to nominal damages; must prove actual harm for additional damages. (  Carey: P, a high school freshman, was suspended for 20 days after the principal believed that he was smoking a joint; without recovering the cigarette or giving P a chance to explain.  P is suing for the deprivation of his constitutional right to due process and is seeking 3k in damages in addition to deleting the suspension from his record.  Held:  Damages are not presumed for constitutional harms as they are for defamation cases.  Recovery for constitutional harms is awarded only to the extent the damages were sustained.  Here, the P would have been suspended even if a proper hearing had been held.  

–    Nominal damages enable you to seek punitives and attorney fees.

c.   Leg and judicial responses to noneconomic damages:

1.   In CA, noneconomic damages are several only, and not subject to joint and several liability.

2.   Neg claims against health care providers in CA subject to 250K cap on noneconomic damages.
5.   Consequential damages may be necessary to put the P back in the rightful position. 
i.   For contracts cases, conseq. damages must be foreseeable and not excluded by K.  
a.   Buck:  D leased P a pasture for the term of 5 years to graze cattle thereon. D kicked him off after 2 years for a better lease.  Cattle remained “out of the pasture on the commons” for 5 years before P found another range.  It cost $1.50 per day for five months to herd animals = $225.  Lost 15 cattle during that time; worth $15 per head = $225.  Compensatory damages were just $50, the increase in rent, but conseq damages were $500.
b.   Hadley: Foreseeable = arising naturally, or according to the usual course of things.

ii.   No conseq. damages when the only breach is the nonpayment of money – even if D knows that P needed the money… (Meinrath). P just gets the legal rate of interest.
a.   Bad faith ins. co. exception. P gets the whole spectrum of damages including emotional distress damages and punitive damages.

b.   A bank’s failure to loan an agreed upon amount may fall under this category.

6.   Discounting to Present Value.   Consider two factors:
i.   The salary inflation:  The cost of things like medical care and wages will go up over time. 

a.   Take into account how much the P’s wages would have increased AND how much do we need to account for inflation which increases the cost of living.

b.   P argues that the medical care inflation and wage inflation will be high.

ii.   The discount rate: Deduct the amount of interest P would make if he invests the award in a safe investment.  

a.   Ps argue that the general inflation rate will be low (b/c this is connected to the bank’s interest rate) and that the general rate of return on investments will also be low.

b.   Note the difference the P will get if he’s deemed to be paid in the beginning of the year versus the end of the year.  ( We are simplifying the equation by assuming P is paid once a year.  And if it’s in the last year than the D will want to discount that so the P can earn it through interest. 

iii.   S.Ct rejected a “total offset” method as mandatory although parties could stipulate to it. 

7.   Prejudgment/Postjudgment Interest.

i.   P is entitled to the legal rate of interest from the date of the injury to the date of the trial.  

a.   Where the prejudgment interest rate is higher than the bank’s interests rate, the P (who expects to win) won’t mind a lengthy trial; but where the bank’s interest rate is much higher than the prejudgment interest rate, P will want to get paid sooner rather than later.

b.   In federal cts, where there is no set rate of prejudgment interests, there is a chance the interest amount may exceed the original judgment. 

ii.   P is also entitled to the interest from the date of the judgment until the time the D satisfies the judgment (including interest).
B.   Contracting around the rightful position.  
1.   Conseq. damages may be limited or excluded UNLESS the limitation or exclusion is unconscionable. (2-719(3)).  

i.   Limitation of conseq damages for injury to the person in the case of consumer goods is prima facie unconscionable, but limitation of conseq damages for commercial losses is not. 

a.   It is per se unconscionable when dealing with “necessities of life.”  
b.   Outside of personal injury cases, limits on conseq. damages are usually enforceable.  
2.   Where circumstances cause an exclusive or limited remedy to fail of its essential purpose, remedy may be had as provided in this Act.  (2-719(2)).

i.   For example, if a K provides a strict limitation on remedy in the case of the seller’s breach to repair or replacement of the product and the seller tries repeatedly to repair a faulty machine, the courts may declare that the remedy “has failed of its essential purpose” and resort to other contractual provisions or the default rules of the act.

ii.   A subsidiary question arises when the default rules and other contractual provisions conflict after a repair or replace remedy has failed of its essential purpose.  Although conseq damages is a buyer’s remedy “provided in the Act,” the Code is silent as to whether that remedy survives if the K excludes it and so Cts are split on whether to allow them.  
a.   First, decide whether the conseq. damage provision survives in the absence of another remedy, 

1.   Some see an integral relationship b/w the exclusion of conseq damages and the limited remedy of repair or replacement, so that the failure of the limited remedy necessarily causes the invalidation of the exclusion of conseq damages; others have concluded that the two provisions should be viewed independently.

2.   In Kearney the automatic engraver was down 25 – 50 % of the time and repairs weren’t working.  There was an exclusive remedy provision limiting buyer’s remedy to repair or replacement or refund.  In addition, there was a separate provision that precluded conseq/incidental damages.  The Ct ruled that the repair/replacement remedy failed of its essential purpose but sided w/ the seller holding that the conseq damage clause was enforceable so long as the clause was not unconscionable.  Thus, P was not able to get his lost profits for all the down time of the machine.
b.   Second, decide whether it is an unconscionable provision.   

1.   In Kearney, there was a sophisticated buyer so it wasn’t unconscionable for the buyer to retain the risk of conseq damages upon the failure of the repair remedy.   

2.   Note that the holding in Kearney did not deprive the buyer of all remedies.  P should have argued for the difference b/w good as warranted minus value of good accepted or K price.   If the seller promised a machine tool that could do x, and such a machine tool as a value of $1million if working and zero if constantly broken, buyer could have recovered a significant amount of damages.  
3.   Liquidated Damages Provisions. 
i.   LDP is a provision in the K that specifies the amount of damages (or a formula for determining damages) in the event of the breach.  

a.   Removes the uncertainty of the jury’s evaluation of damages (and coerces performance).

ii.   LDP’s are permissible in an amount that is reasonable in light of the actual or anticipated loss caused by the breach and the difficulty of proving loss.  Must show:

a.   Stated damages bear a reasonable relationship to actual or anticipated loss; AND
1.   Ashcraft:  Lawyer was fired from firm and violates the terms of the employment K through deliberated acts of misconduct including his attempts to steal clients and sabotage the firm’s computer database.  Employee argues that the 400k liq damages clause is unenforceable b/c it bears no relationship to the actual damages suffered or anticipated.  Held: Ct awards liq. damages provision even though the breach that occurred (his attempt to steal clients and to sabotage the computer system) is different than the breach that was anticipated (the cost of his leaving the firm).  The Ct’s theory may be that it was his misconduct which caused the firm to fire him leaving him responsible for leaving the firm.
b.   Actual damages are difficult to prove
1.   Note the tension between two parts of test.  Test is difficult because it is internally conflicting.  E.g., CA freeway construction case.

iii.   A penalty is unenforceable on grounds of public policy.

a.   The law draws a distinction b/w enforceable and unenforceable LDPs based upon the reasons the parties included the provision in the K.  If the reason is coercion or punishment (which might be evidenced by an “unreasonably large” LDP), the clause is impermissible; if the clause is a good faith attempt to set the amount of compensatory damages, it is permissible. 

b.   One way around a penalty provision is giving a bonus instead.  Give extra money for early performance. 
c.   Unreasonably low LDPs pose the same problem.

C.   Public Policy Limitations Imposed by the Ct.
1.   Doctrine of Avoidable consequences/mitigation of damages.  

i.   P can’t recover for an avoidable loss; must take reasonable steps to mitigate damages.
a.   The law treats Ps as though they took reasonable steps to avoid further loss whether or not they actually did so.  (  Rockingham County:  After a change in the city’s Bd. they decided they didn’t want the bridge to be built anymore; but the contractors finished it anyway.  Total loss to the contractor would have been 1900; but after finishing the project (costing 10k) they sued the city for 18k (8k profit).  Ct gives them 9.9k only (1900 plus 8k expectancy).
1.   Some Courts treat the failure to wear a seatbelt as a failure to mitigate.

b.   Reasonable steps.
1.   Stop unnecessary work; make a reasonable resale; obtain substitute performance.
2.   Market value is very determinative/suggestive of reasonable mitigation.  So unless you have a good reason for re-selling your product below FMV, the Ct might not give you the difference. 
3.   Don’t need to take unreasonable steps.

–    Ex: You don’t need to get a risky surgery to alleviate pain in your back.

–    P needn’t accept substitute employment if it is different or inferior work.
•    The general measure of recovery by a wrongfully discharged employee is the amount of salary agreed upon for the period of service, less the amount which the employer affirmatively proves the employee has earned or with reasonable effort might have earned from other employment.  
•    However, before projected earning from other employment opportunities not sought or accepted can be applied in mitigation, the employer must show that the other employment was comparable, or substantially similar, to that of which the employee has been deprived.   ( Parker: Fox breached in giving Shirly McClaine a job as lead actress in a musical.  To mitigate, Fox provided an alternate movie for the same compensation.  However, the movie was a western (not a musical where she could use all of her singing and dancing talents) and was filming in Australia not LA.  In addition, this movie didn’t give here the same director and screenplay approvals and thus constituted inferior employment.
4.   If a P fails to mitigate for religious purposes, such as not wanting to accept blood transfusions, Cts are split as to how to deal w/ the mitigation question in these circumstances.  Some hold that religious views are irrelevant to the mitigation question and that the failure to mitigate was unreasonable or they deem the P more in line w/ an egg shell P if refusal was based on a sincere religious belief. 

ii.   Offsetting Benefits.  Mitigation claims arise when P can take steps to avoid further loss but fails to do so.  The issue of offsetting benefits arises when a P actually takes steps to avoid loss.  In such a case, those steps taken to avoid loss must be taken into account in computing P’s damages so as to prevent the P from obtaining a double recovery. 

a.   If you don’t mitigate damages by re-selling your car you get price of the initial K minus FMV.  If you resell your car but get less than FMV the ct will still only limit your damages to what they would have been if you got FMV.  If you want to argue that you couldn’t have gotten FMV, that would be an argument for adjusting the FMV, not for getting more money.  

b.   Lost Volume Seller exception:  Remember Neri? That’s an example of when you wouldn’t offset the new sale b/c you could have had both sales.   

iii.   Collateral Source rule.
a.   Insurance proceeds and certain government benefit payments that are wholly independent of the tortfeasor do not get deducted from the P’s award of damages.
1.   When your insurance pays you for the harm caused by the P, there is the potential for recovering more than you deserve (unless there is a subrogation clause).
2.   Some states have tort reform statutes that would let the jury hear about the insurance so the P only gets the amount that he is out from the D.
3.   Helfend: Ct refused to permit D to show that P’s hospital bills had been 80% paid by health insurance.  Ct’s opinion was that a person who has invested years of insurance premiums to assure his medical care should receive the benefits of this thrift.  The tortfeasor should not garner the benefits of his victim’s providence. 
4.   Arguments for the rule:  (1) Between an innocent P and a culpable D, it is better that the D pays and the P gets a windfall than that D gets lucky enough to hurt a P who has insurance.  (2) Militates against other factors in torts cases, like contingency fees.  Arguments against: (1) possibility of double recovery, (2) no reason for a special exception for these kinds of offsetting benefits, if we allow other offsetting benefits to count against the P; (3) rule should not be used to solve other problems, like contingency fee arrangements; if you want to solve them simply allow for recovery of attorney’s fees.

b.   Minority jdxns: Collateral source may not need to be wholly independent of the tortfeasor but merely of an independent fund.  In Molzof, the P was permanently disabled due to medical malpractice in a VA hospital.  His wife left him at the hospital, which provided free medical care.  The Ct awarded future medical expenses.  “Application of the rule depends less upon the sources of the funds than upon the character of the benefits.”  Molzof was entitled to free medical care b/c of his services as a veteran, not b/c the VA had injured him.  This entitlement was collateral to his injury, even though the free care came from the very agency that was responsible for D’s liability.  
2.   Prima facie requirements of actual cause and proximate cause.
i.   Proximate cause holds certain acts as too “remote” or not a “substantial factor” in causing P’s harm as to act as a rule that limits damages on policy grounds. 

3.   Economic harm rule. 

i.   No economic damages in the absence of physical impact to person or property.  P cannot recover for lost wages or other financial kinds of injury caused by a D’s tortious conduct in the absence of physical impact resulting in personal injury or property damage.
a.   Prevents crushing liability; e.g., Sig Alert Hypo.

b.   Note that we are using the term “economic” in this case differently than the way we used it to contrast economic and noneconomic damages for purposes of limiting emotional distress and pain and suffering damages.  Property damages does not count as “economic harm” for purposes of the EH rule, but it does count as economic damages under the rules differentiating b/w economic and noneconomic harm.
c.   Only applies to torts claims.  Economic harm occurs exclusively all the time in K, so there you would simply argue for conseq damages. 

ii.   Exception: Where the only kind of damages that can be caused is economic harm the rule doesn’t apply; e.g., accountants…
iii.   In Pruitt, the Ct declined to extend the EH rule for another public policy, deterrence.  A chemical spill in the Chesapeake Bay by the D causes the fish to die.  Multiple Ps all claim to have suffered economic harm (lost profits for inability to sell seafood).  Under the EH rule they shouldn’t be able to recover, but the Ct permits recovery b/c it is concerned w/ under-deterrence w/r/t these kinds of Ds.  

4.   Cheapest cost avoider.  The responsibility to pay for/avoid the harm falls on the party that can do it the cheapest.   Is this a rule or an anomaly????
i.   Evra:  P entered into a two year K with Pandora to ship scrap metal to Brazil.  P wired money to D (bank) to send to Pandora but the money was never sent to.  Apparently, D lost the telex; Pandora uses this as an excuse to get out of K w/ the P forcing P to hire the same boat at a higher price.  Bank was negligent (torts case, no contract b/w P and swiss bank).  Held: Posner refuses to award P the difference b/w old charter price and new one as a conseq damage.  Here, he cares about efficiency.  The responsibility to pay for/avoid the harm falls on the party that can do it the cheapest, which he thinks is Evra corp b/c it knows that it needs to protect against this type of mistake and it has a lot riding on the payment.  Evra knew or should have known that even if the Swiss banks are infallible, messages sometimes get lost or delayed in transit.
ii.   Two criticisms of Ezra: (1) It’s not realistic (how do u know that the cheapest cost avoider is the person trying to transfer money?).  (2) It doesn’t conform to usual negligence rules - concept of the eggshell P – you take them as you find them.

II.   INJUNCTIVE RELIEF - PREVENTING HARM

A.   An Equitable Order Directing the D to do or Refrain from Doing Something. 

1.   It is a coercive remedy in that it is enforceable by sanctions for contempt of Ct.

i.   It can serve as a strategic advantage to the P.

ii.   Puts the D in a tough position of having to prove that they didn’t violate the injunction (storm uproots neighbor’s trees).

2.   Injunctions look to the future, as opposed to damages that look to the past.

i.   Preventive injunctions are aimed at preventing future harm; reparative injunctions are aimed at preventing the future bad effects of past harm. 
ii.   The injunction can be prohibitory or mandatory depending on how the Ct phrases it.
iii.   Structural injunctions are a series of preventive and/or reparative injunctions used in public interest litigation to either restructure an institution that has been systematically violating the law or whose very structure is unlawful.  
a.   Cases can last generations w/ long-term court oversight; judges running school systems, prisons, etc…
3.   A case may involve a combination of damages and injunction; but the P can’t recover twice.  ( Forster:  D, seller, promised Ps that the house they bought would include the ability to obtain a boat permit (wasn’t possible) and that they would remove a swim dock (not done).  TC made a mistake and gave damages in addition to a reparative injunction.  Held: No double recovery.  Ps get to pick whether they want damages or the injunction, although they can keep the punitives.  

B.   Requirements for an injunction.

1.   Propensity: There must be a realistic threat of future harm from the D.
i.   Propensity breaks down into two parts.  First you have to show that there is a law that precludes the violation and then you must show that D is likely to violate it.

a.   Nicholson: Neighbors are trying to keep half-way house from opening in their town - arguing an increase in crime and a depreciation in land values make the use of the property so unreasonable as to be a nuisance.  Ct doesn’t issue preventive injunction b/c propensity of crime is a speculative and intangible fear – not a realistic threat of – a violation to cause them harm.  Also, the propensity for the depreciation of land values, though objective (the announcement of the half-way house already caused the depreciation of land values) is again not a violation (no violation as a matter of substantive nuisance law for depreciated property values).
b.   Compare to Brainard & Torrent where there was no point in having a dump or funeral home in the middle of the town where the affect could be adjudge prior to the undertaking b/c of prior dumps run by D or the nature of a funeral.  Here, there is a value for a half-way house to be in the middle of town.  This shows that the Nicholson turns not the P’s subjective fears but on the social benefit of the conduct. 
ii.   Consider ripeness and mootness concerns.

a.   “Injunctions will not be issued merely to allay the fears and apprehension … of the parties.” ( In Humble Oil, the P sought an injunction to prevent the D from destroying documents that will be necessary in the future litigation b/w them.  Ct doesn’t’ issue the preventive, prohibitory injunction b/c there was not enough proof that the D was actually engaged in wrongful conduct; it wasn’t yet ripe. D said he wasn’t going to destroy the docs!  

b.   Normally, the fact that the D has already done the violation once is sufficient to cause the court to take seriously P’s fear that she will do it again UNLESS, there is good reason for the Ct to think that the violations is no longer likely like in WT Grant.  (  In W.T. Grant, the Gov. sued Hancock and his three pairs of corporations of which he served as director alleging corporate interlocking.  Gov. sought the particular interlocks terminated to enjoin future violations of the law.  Soon after the complaint was filed, Hancock resigned from the boards.  The Ct found that the issue was moot, not constitutionally (since a controversy may remain to be settled in such circumstances), but b/c the likelihood of repetition was so low that relief should be withheld as a matter of discretion.  There was no reasonable expectation that the wrong would be repeated.   (The Ct concedes that the facts could have gone either way: D was not persuaded for five years prior to the complaint of the illegality and he never promised to commit similar violation in the future).

1.   Cts in situations like WT Grant will need to make a credibility determination as to whether the D is likely to engage in the prohibited conduct again. 
2.   Contrast between mere possibility of future violation and a cognizable danger.  Three factors to evaluate if case is moot:  BEC
–    (1) Bona fides of the expressed intent to comply;

–    (2) Effectiveness of the discontinuance; and

–    (3) Character of the past violations.  (in some cases)
3.   A reparative injunction could be used to prevent the future negative effects of a past harm where it appears at first that the case is moot.  ( Bell v. Southwell:  Black voters’ constitutional right to a fair election was violated with election tactics.  Even if all the black voters voted against the winning candidate, the same person would have won.  At first glance, it would appear that an injunction would be useless to Ps b/c the harm already occurred and rerunning the election would not make a difference to the outcome.  Still, the Ct holds to set the election aside and hold a new one b/c the black citizens had to live with the distress of knowing that society has allowed a person to stay in office despite the corruption.  There is a larger symbolic value of voting.  
–    Note that those P’s who were denied the right to vote on account of race could have also sought an action for damages to compensate them for past dignitary harm (for the year of living with the injustice).  A new election minimizes additional harm, but it does not eliminate the emotional distress that has already taken place on Election Day.  
–    Could the black voters seek a Ct order requiring the city to take steps to ensure that no voters are intimidated in the next election or is that moot?  While it is true that the issue of voter intimidation is now moot for purposes of the last election, the question before the court now is whether the city is currently taking adequate steps to prevent a recurrence of the unconstitutional failure of the city to protect black voters from voter intimidation in the next election.  The Ct is going to have to consider the likelihood that private actors would attempt to intimidate black voters again and the extent of the plans the city has undertaken to prevent such action from taking place in the future.  The Ct’s decision may turn at least in part on a credibility determination by the Ct on the intent of city officials.
iii.   Propensity is obviously not an issue in reparative injunction cases where D has already committed wrongful conduct and it’s a question of preventing future harm.

2.   Irreparable injury:  There must be no adequate remedy at law. 
i.   Laycock standard:  “A legal remedy is adequate only if it is as complete, practical, and effic[atious] as the equitable remedy.” 
ii.   Cts traditionally have found the irreparable injury rule met when the loss is something not easily replaceable.  But most Cts know that if the P is asking for specific performance, that action itself is usually good evidence of that the irreparable injury rule has been met.   (If the parties are in litigation, they obviously don’t like each other, so why would the P still want an ongoing relationship w/ a disgruntled promisor, who has already breached at least once, to immediate cover and subsequent reimbursement if he didn’t have to?)

a.   An injunction prevents having to find the D, the uncertainty of the jury valuing damages and consequential damages and trying to recover from the D.  

b.   Damages are never an adequate remedy for the loss of damage of real estate (or other claims about real estate, including encroachments and interference w/ easements).

c.   Uncertainty in calculating damages is an important factor in granting equity.  
iii.   The defeated litigant in a replevin suit does not get the option to either return the property or pay the value of the property;  P can elect either remedy w/o proving irreparable injury. 
a.   Replevin = specific relief to get the property back from D when it’s still in his possession.  Not sure whether it’s restitutionary or legal.  Hasen says it doesn’t matter. 

b.   Only to recover goods, it does not serve to prevent a threatened destruction or dispossession. 

c.   Why sue in equity and deal w/ the irreparable injury rule if we can get replevin?  B/c it is only available when D actually has the P’s property w/ him, and even then, it still might be better to sue for injunction, b/c you have the contempt power.  
3.   Other Policy Concerns.   RUBE
i.   Reasons of substance or procedural policy (non-exhaustive list).
a.   Freedom of speech and right to jury trial concerns. 
1.   No right to jury trial in equity.
2.   Cts are split on the propriety of barring a statement that has been adjudicated to be defamatory. There is a bar on prior restraint, let them say it and then sue for damages later, but cts are divided on whether or not injunction is permissible to enjoin a libel/slander that is proven to be false.  They are divided on the first amend issue of whether or not that counts as a prior restraint. CA permits adjudicated defamatory speech from being repeated. 
–    Willing: P suing to enjoin D from making defamatory statements (proven to be false) outside P’s law firm.  Can’t really value the loss to reputation and she will probably just keep going on like this.  Moreover, she’s insolvent.  Though a D’s insolvency is generally considered a valid factor in granting an injunction, a minority of courts, like this one, argue that “the exercise of the constitutional right to freely express one’s opinion should not be conditioned upon the economic status of the individual asserting the right.”
b.   Personal service contracts. Can’t force a person to do the work they promised to do as it implicates, among other things, the 13th amend prohibition on involuntary servitude.
1.   Cts are split as to whether the Ct can prevent the person from working for a competitor.
2.   Note that this rule is not-reciprocal.  We can make the employer hire the employee. 
ii.   Undue hardship on the D.  

a.   SP denied when it would impose a disproportionate burden on the defaulting D.  ( Van Wagner:  D sold P the right to erect a billboard on the side of a building which faced an exit ramp and was thus a very good advertising spot.  D sold building to D2 who breached the lease so that he could demolish the building.  Ct refuses to give SP to tenant for the breach of K of the lease of the billboard b/c the burden on the D would be too great.  
1.   Hardship to defendant must be much greater than benefit of the injunction to the P.

b.   Ct may still grant equitable relief in spite of D’s hardship in cases of D’s “willful misconduct” UNLESS P sat on his rights (acquiescence) which prejudices D (laches). ( Ariola:  D wants to build second floor in home. P says you are trespassing but D builds anyway. D’s gutters went over the property line into P’s property.  D builds anyway.  But now rain water is seeping into P’s house and causing damages to the walls. P sues D for trespass damages and the value of the land that was taken. But also want an injunction that would say they would have to remove (reparative injunction).  Ds face hardship b/c they would have to tear down the building and re-do it which would cost a lot of money compared to the cost to the P.  BUT D’s willful bad conduct trumps that hardship. 
1.   Compare w/ Van Wagner where there were other people aside from D being burdened (the entire midtown area) HUGE PUBLIC BENEFIT.  
2.    “Willfulness” could be as little as negligence according to some Cts. 
3.   Ps will probably get more than what they would have in damages b/c Ds will settle with them so that they don’t have to follow the injunction. 
iii.   Burden on the Court.
a.   Discretion given to TCs in deciding whether injunction would involve burdensome supervision. ( Co-operative Insurance Society: D, supermarket, was losing money so it breached its lease K.  P seeks SP for D to remain through the end of the lease instead of damages.  Irreparable injury? Sure, you can argue that the damages are uncertain, especially since we don’t know if the P can find another tenant and damages would be speculative.  Nevertheless, the Ct permits damages instead of SP b/c of the undue hardship to D to continue running a business that’s losing money and b/c of the burden on the Ct – they would have to supervise the running of the store for 17 more years.  
1.   Note that although the D had knowingly breached the K, the Ct didn’t hold that against them like in Ariola b/c breach of K is not necessarily wrongful. 
b.   Cts more willing to take on a burden where there is a huge SOCIAL BENEFIT e.g. school desegregation.
iv.   Economic analysis of specific v. substitutionary relief.  [For exam, no discussion necessary.  One sentence enough, e.g., “the high cost of negotiating with all these P’s tends to…”]
a.   Kaldor-Hicks efficiency: the law should maximize the whole pie, overall social wealth, regardless of its distribution.  So profitable violations of the law should be encouraged. 

1.   Note that this theory applies primarily w/r/t breach of contracts.  The problem w/ allowing profitable conversions or trespass, for example, is that people would over invest in precautions to protect their property instead of putting their resources toward productive uses. 

b.   Coase theorem: In the absence of transaction costs, the law is irrelevant, b/c the parties will bargain to the right place, i.e., to an efficient result, regardless of the underlying legal rule.  
1.   Transaction costs: bargaining costs, costs of obtaining information and acting strategically. 

2.   For example, suppose the electric company’s smoke stack emits smoke which damages the laundry.  There are two ways to eliminate the smoke.  Either the laundry can install filters or the electric company can install scrubbers on their smoke stacks.  Assume that E’s profits are $1,000 w/o E installing scrubbers; $500 with scrubbers.  L’s profits are $300 without pollution, $100 with pollution and no filter, and $200 with pollution and filter. 

  Rule

Payoff to E

Payoff to L

Total wealth

E free to 

1,000 (no scrub)

200 (installs filter)

$1200
Pollute 

L entitled to
900 (no scrub)

300 (installs filter)

$1200

compens. damages 



(200 profit; 100 damages)
L entitled to
500 (installs scrub)

300 (no filter) 

 $800

injunction
 
       
Most efficient rule produces most social wealth: we want L to install filter and not for E to install scrubber. Rule 1 or 2 is best for economists. Coase said if no costs of bargaining (everyone knew what their costs were), they may be able to bargain over those $400 of wiggle room. 

c.   Calabresi and Melamed say that Coase is not entirely correct.  The law does matter b/c transaction costs are not always low.  In high transaction cost situations only damages appropriate.  

1.   But we don’t live in world free of transaction costs. So calabresi and melamed say when transaction costs are low, we should let the parties bargain b/c we assume that the situation will be closet to the coasian result.  Better to let market sort it out. But when high, the parties may not bargain to efficient result and better for courts to issue damages.  Thus, when transaction costs are low give injunctions; and when transaction costs are high, give damages
2.   Critiques:  
–    The case of the bi-lateral monopoly is an argument for damages instead of an injunction even where transaction costs are low b/c it’s still the most costly approach even though the number of parties is small!
–    Transactions costs are always high so an injunction will not lead to efficient result.  There are high information costs (you are not going to be given the costs/losses in a chart. Need to pay for this info) and high bargaining costs (problem of bilateral monopoly - the assumption that there is one buyer and one seller, no competitive market, won’t get efficient results).
–    Ward Farnsworth article shows that parties don’t even negotiate after injunction.
–    Theory assumes people act as though they are rational economic actors and doesn’t take into account the fact that parties must mitigate damages.
4.   Possible new Ebay test for granting injunctions in FED courts.   IDBP
i.   Irreparable injury;
ii.   Damages are inadequate;

a.   Note that there isn’t a real difference b/w 1 and 2.
iii.   Balance hardships; and

a.   Helps Ds get out of injunctions b/c now balance in every case, so makes it harder for P to get injunctions. 
b.   Propensity and other policy reasons would be discussed here even though not explicitly made clear by the Ct.

iv.   Public interest not disserved by granting of injunction.  (Shifts burden to P to show this).
C.   Scope of the injunction.
1.   Two approaches re how broad the injunction should be.
i.   Rightful position standard.  (Approach currently held by S.Ct. – conservatives err on side of under-remediation).
a.   In Winston, 3M sought a perpetual injunction and damages after the D allegedly used confidential info while working at 3M to make a similar product. Instead, the Ct awards an injunction to prevent D from selling the product only for as long as competitors would take after public disclosure to develop a competitive machine.  

b.   Goodyear: After an occurrence of age discrimination in one of D’s stores, P sought an injunction preventing D’s stores nationwide from doing the same.  Ct doesn’t issue preventive injunction b/c too broad.  Can’t have a nation wide injunction w/o a nationwide problem and there was no finding of discriminatory company policy or practice.  
ii.   Free-wheeling equitable discretion approach.  
a.   Ct of equity’s “roving commission to do good.”  Not limited to rightful position. 
b.   In Bailey, there’s a mutual fund that includes two classes of investors – the bond holders (who get a guaranteed amount of interest before the shareholders, but can’t choose how’s it’s invested) and the shareholders (who decides how to invest the money and get everything over the bond’s promised return).  Fraud and self-dealing in the management cause the fund to go insolvent.  While the trust was held by a receiver, it was bought by new management which made it solvent again.  Still, the Ct granted the bond holder’s request to liquidate the company and thereby get some money despite the fact that it was no longer insolvent and those responsible for the fraud were no longer associated w/ the trust.  This puts them in a better position b/c they should still be stuck in a risky investment.  Ct argues that he flawed structure of the trust leads to insolvency.  

2.   Prophylactic injunctions

i.   A prophylactic injunction is an injunction that goes a bit further than the rightful position in order to protect the rightful position. 

a.   Example:  If Quincy keeps coming on Rudolfo’s land to chop down the trees in violation of Rudolfo’s property rights, prophylactic injunction might require Quincy to stay at least 100 yards away from Rudolfo’s property.

ii.   You can give more than the rightful position if you frame the remedy as protecting the rightful position.  This is even accepted in the Winston tradition.
a.   It is hard to know sometimes whether the court is protecting the rightful position or whether it is engaging in free-wheeling equitable discretion, dressed up as a prophylactic injunction.

b.   Hutto:  Confinement for prisoners in punitive isolation was terrible and for indeterminate periods of time; altogether cruel and unusual punishment.  The DC held that prisoners could not be held there for more than 30 days.  Petitioners argued that 30 days can’t be the threshold for defining cruel & unusual punishment.  Held:  DC’s judgment is affirmed w/o 30 days being held to be the threshold for cruel and unusual.  The Ct majority viewed the limit on time in punitive isolation as a prophylactic one to guard the rightful position; the dissent saw the link b/w wrong and remedy as too attenuated to justify the remedy – it saw the majority as simply imposing its vision of justice.  

3.   Ct’s must aim for the rightful position standard in structural injunction cases.

i.   The early battle b/w over-remediation & under-remediation.  

a.   In Swan, the S.Ct. upheld a DC’s mandatory busing plan which created wedge shaped attendance zones pointed towards the central city.  The Cts’ earliest attempt at fixing de jure segregation put the Ps in a better position than if there had been no state discrimination; thus not tied to the rightful position standard b/c the plan integrated schools much more than they would have been had there been state-mandated school desegregation: even w/o de jure segregation, many southern schools would have remained segregated b/c of de facto voluntary segregation in housing.  

b.   But in Miliken I, the Ct held that the DC’s attempt to desegregate the Detroit school by bussing children from neighboring suburbs (that had not been found to have violated the constitution) was overbroad b/c it was an inter-district remedy for an intra-district violation.

ii.   Miliken Line of cases wins out. 
a.   Jenkins III:  Ct rejected a remedial order which required a tax increase to fund massive spending to improve the school system.  The plan was to fix de facto segregation by making the Kansas City Missouri School District so amazing that that it would attract white kids who would otherwise not attend that desegregated school.  Held:  The Ct saw the remedy as not appropriately tied to the scope of the constitutional violation and therefore not tied to the rightful position.  “Desegregative attractiveness” goes beyond the rightful position (expenditures far in excess of what Kansas City students would ever have experienced in the absence of segregation).  The burden on suburban school districts (less students in that district means less money) causes it to be an inter-district remedy.

b.   Lewis:  Arizona prisoner complained that inadequate law libraries and legal assistance in the state prisons interfered w/ his right of access to the courts.  (The Law libraries had to be good enough to enable prisoners to file complaints).  DC ordered a variety of systemwide changes to the state’s prison libraries, including the addition of “special services for non-English speakers…”  Held: The two instances were a patently inadequate basis for a conclusion of system-wide violation and imposition of system-wide relief.  Remedy is so beyond the wrong that the Ct reverses.  

c.   VMI:  Here, the lower ct was found to under remediate when it acceded to the Virginia Military Institute’s attempt to solve the problem of discrimination of women by creating a parallel school for women only.  The Ct held that it would not have put the female applicants in the position they would have been in but for the discrimination.  The women’s school lacked the same qualities of the VMI (including hazing and lack of privacy).
D.   Modifying Existing Injunctions

1.   Step 1: The modification of an injunction is permitted, according to FRCP 60(b)(5), if applying it prospectively is no longer equitable.  

i.   Rufo “flexible” standard interprets what is “equitable.”  Non-exhaustive list of grounds for modifying an injunction or consent decree:  CLUE P
a.   Changed factual conditions make compliance w/ the decree substantially onerous.

b.   Changed law makes legal what the decree was designed to prevent.  

1.   BUT, no modification where a party relies upon events that actually were anticipated at the time it entered into a decree.

c.   Unforeseen obstacles make the decree unworkable. 

1.   Language changed to unforeseen from reasonable unforeseeable – wholly subjective.

d.   Enforcement of the decree w/o modification would be detrimental to the public interest.

e.   Parties based their agreement on a misunderstanding of the law.

1.   Rufo: Pretrial inmates got an injunction to change unconstitutional conditions.  Parties signed a consent decree that there will be no double bunking in cells.  Now the Sheriff is arguing for the Ct to modify the consent decree b/c there has been an increase in the prison population and the S.Ct held in a separate case that double occupancy cells are not unconstitutional. 

–    Consent decree = a K b/w the parties embodied in an injunction issued by the Ct, i.e, a K backed by contempt power.  

–    This case is interesting b/c it permits breaking the parties’ contractual duties.  It shows how extreme the Ct will take the modification rule.  Though consent decrees have the teeth of contempt, they are more likely to be changed than settlement agreements b/c of Rufo.  
2.   Step 2: How to modify.  The modification must be:  SCSD
i.   Suitably tailored to the changed circumstances. 

a.   Once a court has determined that changed circumstances warrant a modification in an injunction, the focus should be on whether the proposed modification is tailored to resolve the problems created by the change in circumstances.

ii.   Can’t create or perpetuate a constitutional violation.

iii.   Shouldn’t impose the constitutional floor unless part of the parties’ agreement.
a.   Since Rufo, congress passed the Prison Litigation Reform Act so that now, at any time, the authorities can have prospective relief modified so that it gives no more than the constitutional floor in prison litigation cases; i.e., the injunction provides the minimum relief necessary to correct a violation of a federal right.  The Ct may not even approve a consent decree that gives more than the constitutional floor.  This in a sense bars consent decrees b/c there is no room for the gov to negotiate since the judge can only give the constitutional floor.  (Can still have a settlement agreement b/c not enforced as an injunction). 
iv.   Deference to public authority Ds regarding how to remedy the problem. 

a.   (Deference to public authorities in both steps).
b.   Frew:  “Principles of federalism requires the state officials w/ front-line responsibility for administering the program be given latitude and substantial discretion.”

E.   Rights of Third Parties.

1.   Indirect burdens to third parties can be great.

i.   Under Hills and Milliken, innocent third parties may be substantially burdened short of “restructuring.”  

a.   Milliken case: Improper remedy b/c it would restructure the suburban school district. 

b.   Sometimes cost of injunctions will be borne by innocent third parties. ( Hills:  As an alternative to building low income housing, the city developed the Section 8 subsidized housing program in response to the previous racially discriminatory housing program.  The Ps are suburban neighbors of Chicago who argue that the city’s plan burdens them too much b/c suburban govt entities will have to provide increased services for the influx of low income neighbors.  The Ct upheld the ability of the US Dept. of Housing and Urban Development to take remedial action outside the city limits of Chicago to remedy problems w/ race discrimination in a Chicago housing program.  The remedy consisted in part of providing vouchers to poor Chicago residents to pay for housing in Chicago suburbs.  The localities faced a large burden b/c as a result of the Ct’s order to HUD, they were going to be faced w/ an influx of new poor residents who were likely going to need significant social services.  So you can burden these suburbs w/ huge financial costs just no  restructuring of the suburbs.
ii.   Line b/w permissible burdens & restructuring is unclear b/c no consistent pattern.  

a.   Problem in reconciling Hills w/ Jenkins.  There the remedy went beyond the rightful position putting students in better position.  But the burden on third parties in Jenkins (that some schools would lose some students so would get less money) was no worse than that placed here in Hill (if anything it looks like less of a burden); but in Hill it was permissible to burden third parties and in Jenkins it was impermissible.  So not sure after Jenkins how much you can burden third parties.   Majority in Jenkins says the “desegregative attractiveness” is an “interdisctrict” goal that violates Milliken, and in any case burdens third parties too much.  Dissent in Jenkins says goal is “intradistrict” and in any case Hills allows great burden (short of restructuring) on third parties.  Dissent says Jenkins sub silentio overrules Hills.   
2.   Direct orders to third parties can be no more than “minor” and “ancillary.”

i.   Although direct orders sound more onerous than indirect burdens, the distinction would probably be lost on most third parties.  Consider a student who wants to remain at a nearby school: that student would find it much less burdensome to fill out occasional paperwork than to attend a different school under a busing plan.  
a.   The reason for this though is the contempt power behind the order. 
ii.   Third parties cannot be forced to pay for part of remedy.  Filing of quarterly reports also too excessive.

iii.   To what extent can the court order the police to enforce an injunction?  In Brown, protesters in front of store, Ct ordered them to stand 50 ft away, and the police were ordered to keep them at that distance. The police argued that they cannot be forced to help enforce an injunction and the Ct agreed. 

a.   Cts are split as to whether the police get treated in the same way as third parties in general.
F.   Preliminary Relief.
1.   Preliminary injunctions.

i.   Prelim injunctions are issued before a judgment on the merits (after a trial or dispositive motion) offering relief before a final judgment. 

a.   Preliminary relief is essential where a final judgment may come too late.
1.   The problem is that before final judgment the court does not know if, in fact, P is entitled to the relief sought.  Therefore, at the very least, any court granting preliminary relief is going to have to consider the risk of error that accompanies the granting of preliminary relief. 
2.   The law has no form of prelim. relief for the payment of damages - let the P borrow $ in the interim!
b.   Helps preserve the relative position of the parties, the status quo ante litem (state of affairs before the litigation), pending a determination of the action on the merits.  (LA Memorial Coliseum).
1.   It is therefore more likely that the P will be granted a preliminary injunction that preserves the status quo (prohibitory) than one that seeks to change the status quo (mandatory).  * OR you can argue that the injunction is prohibitory depending on how you read it…
–    A smart D will argue that the true status quo is different than the one the P is seeking to preserve. 
c.   B/c the request is preliminary, P need not prove his case w/ as much evidence as will be needed for final judgment. 
ii.   Step 1 ( Standard four-part test for granting of preliminary injunctions:  LPBA


**(Some jdxns require proof of all elements, others balance totality of circumstances).

a.   Likelihood of success on the merits,
1.   Propensity; Irreparable harm; Policy.

2.   Mostly a substantive issue; i.e., propensity on the merits, like in Nicholson.

b.   Possibility of irreparable injury to P if relief is not granted (the risk of error),
1.   NOT the same as normal irreparable injury. Whether the injury from now to the point of final judgment is irreparable.  Also, the Ct is more likely to take the D’s perspective into account in evaluating this b/c of the higher risk of error. 
2.   A higher probability of one permits less of the other.  BUT, you have to have a little of both at least; can’t not have one. 
3.   Money is likely going to be a sufficient substitute when it comes to irreparable injury of a preliminary injunction.  ( LA Memorial Coliseum:  P got a preliminary (prohibitory) injunction against the NFL to keep them from applying a section of the League’s constitution which would prevent the raiders from moving to LA. (P argues it would be an antitrust violation). Held: Even if some significant threat of injury was hypothesized, it was neither found nor shown to be irreparable.  Whatever lost revenues it would realize due to its inability to acquire the team could be compensable by a damage award. 
–    If loss of the Raiders would be irreparable after trial, why isn’t it irreparable before trial?  Courts at the preliminary relief stage routinely find no irreparable injury in injuries they would consider irreparable after a full jury trial.  The phrases are the same but the meaning is very different.  At the preliminary relief stage, the risk of injury must be sufficiently great and sufficiently irreparable to override the risk of error and D’s right to due process. 
c.   Balance of the hardship favors the P,
1.   Consideration of irreparable injury to D if relief is granted.  Weigh the harms which a preliminary injunction might cause the D against the P’s threatened injury.
2.   Less irreparable harm where the P puts down an injunction bond. 
3.   This balancing is different from the balancing that courts sometimes undertake at final injunction.  In permanent injunctions, when the D who has been found liable faces a very serious hardship from an injunction, and the hardship greatly outweighs the benefits of the injunction to the P, courts will sometimes deny an injunction.  Proof that an adjudicated wrongdoer will endure some hardship will not be enough to defeat a successful P’s request for a perm. injunction.  W/ prelim relif, b/c the D has not yet been adjudicated a wrongdoer, less hardship is withstood. 
d.   Advancement of the Public interest (in certain cases).
1.   In Lakeshore Hills the injunction altered rather than preserved the status quo b/c of the social benefit. The D owned a pet bear.  The subdivision’s restrictive covenants only permit household pets.  Held: The TC’s decision to grant the prelim (mandatory) injunc based on the fact that the bear’s presence violated the covenant and that a potentially dangerous situation existed is affirmed.  (1) The P is reasonably likely to prevail in seeking a permanent injunction b/c the covenant excludes bears.  (2) Although denial of the injunction would not necessarily have led to irreparable injury, the TC correctly concluded that the better course was to enjoin the keeping of the bear and not risk the harm even though the bear is kept in a case w/in a cage and supposedly is very gentle. (3) The threat of herm outweighs the inconvenience to the D. (4) Granting the prelim injunc did not harm the general public but rather was designed to protect the public.  ~~~ That the injunction alters the status quo does not require reversal as it is contrary to the nature of people to live in the immediate vicinity of bears or for bears to live in the suburbs.  
–    Interlocutary appeal = an appeal before final judgment. 

iii.   Step 2 ( Economic analysis of preliminary injunction decision.
a.   Grant preliminary injunctions only if:   P(Hp) > (1 – P)Hd

1.   P is the probability plaintiff will succeed in the full trial on the merits, 
2.   (1 – P) is the probability defendant will ultimately succeed at trial, and 
3.   Hp is the irreparable harm the plaintiff will suffer if interim injunctive relief is erroneously denied, 
4.   Hd is harm to the defendant if interim injunctive relief is erroneously granted. 
5.   Add public interest on whatever side if appropriate to Hp or Hd.

b.   Critique ( In many cases we are dealing w/ harm that is “irreparable” precisely b/c it is so hard to value.  Also, how is the ct to assess the likelihood of success on the merits other than by reaching a preliminary decision on the merits and self-assessing the likelihood the judge will change his or her mind after a fuller exploration of the merits?

iv.   Injunction bonds
a.   The bond requires the P to pay the D for damages that accrue during the period b/w the granting of the prelim injunction and final judgment if the court determines at final judgment that injunctive relief is not warranted.  
1.   D must ask for it otherwise it could be waived.
b.   The balancing test for preliminary injunctions is one way that courts deal w/ the risk of error; the injunction bond is another by shifting some of the risk to the P.
1.   Use where the risk can be quantified in dollars – not for cases like Bush.

2.   When the P knows that it’s losing some money for the bond service and may loose the entire bond if it looses the case, it isn’t going to seek a prelim injunction unless its pretty confident that the case will succeed on the merits. 
c.   The P cannot be liable to the D for damages in excess of the bond, even if the D proves damages exceeding that amount.
1.   If you think the bond is too low you must file an interlocutory appeal to raise the bond amount. 
2.   If the P acts in bad faith, you can get more than the bond amount if you bring an action for malicious prosecution.  
2.   Stay orders. 
i.   A stay prevents the judgment from being enforced during the pendency of the appeal. 
a.   A stay is an order by an appellate court suspending the implementation of a lower court order or judgment.  The standards for granting a stay are very much like those governing the issuance of a preliminary injunction b/c a stay too is a preliminary order in effect only until the higher court decides the merits of the appeal.  Raises similar issues regarding the risk of error.  
b.   In CA, you have to post an appeal bond for 2.5 times the amount of the judgment. 
ii.   Standard for granting stays for S.Ct:  RFIB
a.   Reasonable probability that four Justices will vote to grant cert.

b.   Fair prospect will conclude that the decision below was erroneous.
1.   …Substantial probability of success on the merits.  ( Bush v. Gore:  Fl. S.Ct. ordered a hand recount for every ballot that the computer deemed to be a no-vote for president.  Justice Scalia argues that not granting a stay on the recounting of votes until the case is heard by the S.Ct would threaten irreparable harm to petitioner Bush by casting a cloud upon what he claims to be the legitimacy of his election. 
2.   BUT, under Posner’s perspective, that’s not necessary b/c even a little probability is ok depending on the magnitude of the harm.  ( Posner says 1 x 2 is greater than 0 x 1,000,000.  ( “While Gore indeed suffered more harm from the grant of the stay (loss of opportunity for recount) than Bush would have from a denial (cloud over legitimacy if Fl. court declared Gore winner only to be reversed later by S.Ct.), the decision whether to grant or deny a stay also depends on the likely outcome of the appeal.  If it was certain that the Florida S.Ct. would be reversed, the harm to Gore from stopping the recount was irrelevant.  By December 9, the S.Ct. Justices had become deeply immersed in the case, and it was unlikely that another round of briefs and oral arguments by lawyers on the point of exhaustion would change the Justice’s views.”   ~~~  Note how sensitive Posner’s result is to his estimation of winning.  If Gore had just a 1% chance of changing one justice’s mind following oral arguments, Posner’s formula tells us that the S.Ct. should have denied the stay.
c.   Irreparable harm is likely to result from the denial of a stay. AND
d.   Balance of the equities, look at harm to both parties as well as the interests of the public at large.
3.   Temporary Restraining Orders
i.   The fastest type of relief.  The difference b/w a TRO and a temp injunction is in the timing (more exigency) and the extent of showing that you need to make.
ii.   Same req’s as prelim injunctions (w/ an even a quicker look at the facts).
iii.   TRO’s are the only type of remedy where there is even a possibility of not having to give notice.  In contrast, a ct cannot issue a prelim injunction w/o first giving notice to the adverse party.  The moving party must provide at least informal notice of hearing to the adverse party absent some compelling justification for not doing so.
a.   “TRO may be granted w/o notice if it clearly appears form the facts that the there will be immediate and irreparable injury before the adverse party can be heard in opposition, AND the P’s attorney certifies to the court in writing the efforts, if any, which have been made to give the notice and the reasons supporting the claim that notice should not be required.”  
b.   Constitutionally acceptable reasons to issues TRO w/o notice:

1.   P is afraid that the D will do what you seek to prevent before the Ct issues the order.
2.   P tried to find the D but couldn’t.
–    Princess Anne:  Order enjoined protestors from protesting.  No notice of the hearing given to protestors.  Ds argue that they weren’t given their due process right to notice and a hearing (in addition the TRO was a prior restraint on their speech).  Held:  There was no good reason to not to give notice of the hearing.  The fact that they were able to give them notice of the ruling demonstrates that they knew where to find them. 
c.   Notice of the ruling is also req’d b/c only willful violations of court orders are grounds for contempt.

iv.   How long can a TRO last for?
a.   TROs without notice of hearing last 10 days, with a single 10 day extension under Rule 65.
b.   For TROs with notice of hearing, the rule is silent.  (Only an issue when no explicit time frame).
1.   Majority Sampson opinion: A TRO w/ notice lasting more than 10 days morphs into (an appealable) preliminary injunction.  
2.   Minority Granny Goose opinion:  A TRO w/ notice lasting more than 10 days disappears, becomes void.  
3.   Safe strategy is to move in TC for dissolution of TRO, and appeal that order. 
v.   Appealing the TRO.  Generally, TROs are not appealable.  Thus, what a party who wants to challenge it may do is move to dissolve the TRO, and assuming denied, appeal that motion through an interlocutory appeal which grants discretion to courts of appeal to review otherwise non-appealable orders when the district court is “of the opinion that such order involves a controlling question of law as to which there is substantial ground for difference of opinion and that an immediate appeal from the order may materially advance the ultimate termination of the litigation.”  TROs lasting more than 20 days may be appealable. 
a.   Another more risky option is to just ignore it after 10 days and hope that you are in a granny goose jdxn which considers it a nullity. 
G.   Enforcing the Injunction - The Contempt Power.

1.   Criminal contempt.

i.   Court’s punishment (fine and/or jail time) for a past willful violation of the Ct’s order.

a.   Punitive purpose.  Brought by the gov although the P can ask prosecutor to bring it.

b.   Criminal procedural protections apply.  Standard of proof is beyond a reasonable doubt … that there was a willful violation…  Right to a jury trial except for minor penalties.

1.   In cases involving jail time of over six months, or large enough fines, defendants accused of criminal contempt have the right to a trial by jury.  How large does the fine have to be?  The precise amount triggering the right to a jury trial remains uncertain. The Ct has held that no jury trial was necessary in a case imposing a $10,000 fine on a union.
2.   Although crim protections always apply, not much process is due when a court punishes for “petty contempt.”  As the Ct explained in Bagwell, “when committed in the presence of the court, it can be punished summarily.  The necessity justification for the contempt authority is at its pinnacle where contumacious conduct threatens a court’s immediate ability to conduct its proceedings, such as where a witness refuses to testify, or a party disrupts court. … Thus, petty, direct contempt in the presence of the court traditionally have been subject to summary adjudication to maintain the courtroom integrity. When the court uses contempt to punish a D for alleged violation outside the court’s presence, criminal procedure protections are required. 

c.   Anticipatory Contempt – being held in contempt of an order that doesn’t yet exist but can be anticipated. 

1.   It would behoove D to abide by a possible impending injunction … especially if the Chief judge calls.  Griffin: Chief judge of 4th circ calls school board and asks them not to pay any money until case which they refused.  Payments were made and now fourth circ wants to hold school district in contempt for their disobedience.  Ct has power to punish by fine or imprisonment: “disobedience or resistance to its lawful writ, process, order, rule, decree or command.”  Held:  Though there was no explicit order, the school board is held in contempt of an order than didn’t even exist b/c the chief judge put the district on notice and thus they interfered w/ “process.”

2.   Look for cases where the upper ct has decided to take on the issue presented in the lower ct.

ii.   Collateral bar rule. 
a.   One may not disobey a Ct order and then defend himself in the contempt hearing on the grounds that the order or the underlying law is invalid.  

1.   The appropriate course of action is a direct appeal of the order granting the injunction. 
2.   Respect for the judicial process.( Walker:  Alabama officials got an injunction preventing protestors from marching but they marched anyway declaring the underlying ordinance unconstitutional. Held: Petitioners didn’t even attempt to get a permit in the two days b/w the issuance of the injunction and the march.  Also, the injunction was issued ex parte, the petitioners could have changed it a bit if they presented the ct w/ their contentions; there is no showing that a timely motion to modify or dissolve the injunction would have been met with frustration.  “In the fair administration of justice no man can be judge in his own case.”

b.   Possible Exceptions to collateral bar rule mentioned in Walker:  LIA
1.   Lack of jurisdiction by the Ct to issue the order; 
–    BUT, this does not apply if the Ct issued the injunction prior to determining whether or not it has jdxn b/c it has jdxn to determine if it has jdxn.

2.   Injunction was transparently invalid or only had a frivolous pretense of validity.

–    The Walker court itself noted that the order issued looked to be blatantly unconstitutional “the breadth and vagueness of the injunction itself would also unquestionably be subject to substantial constitutional question.”)  But the court did not apply the “transparently valid” exception to the injunction in Walker.  If it did not apply there, it is not clear when it would apply.

3.   Appeal of court order is pending (you tried the direct attack) and it was met by delay or frustration by the Cts.

iii.   A third party may be held in contempt for violating a minor and ancillary order.

a.   FRCP 65(d) provides that injunctions may be binding only upon: the parties to the action, their officers, agents, servants, employees, and attorneys, and those persons in active concert or participation with them who received actual notice of the order.
b.   In addition, anyone else who “imperiled the court’s fundamental power to make a binding adjudication between the parties” may be charged w/ contempt whether or not they meet any of the criteria of FRCP 65(d).  ( Hall:  To assist in the desegregation of a Florida school the DC enjoined everyone from entering the school except those w/ a limited purpose (students, teachers, parents, etc..).  The injunction went on to provide that “anyone having notice of this order who violates it shall be subject to arrest, prosecution, etc…”  The ct ordered the sheriff to serve a copy to Hall had been involved in causing unrest and violence on the campus.  Four days later he showed up to violate the order.   In this proceeding of criminal contempt, Hall argues that b/c he had no role in the underlying lawsuit and b/c he is not any of the persons identified in FRCP that he should not be bound by the order.  Held:  The Ct has the inherent power to effectuate its judgment b/w the original parties.  That power is supported by the power of courts to issue in rem injunctions, issuing an interim ex part order against an undefinable class of persons: “Federal courts have issued injunction binding on all persons, regardless of notice, who come into contact w/ property which is the subject of a judicial decree.”  We further hold that willful violation of that order by one having notice of it constitutes criminal contempt.”

1.   But Hall didn’t have notice of the hearing; how did the Ct deal w/ that problem?  The Ct held that the order was properly classified as a TRO w/o notice b/c it was violated w/in 4 days of issuance.  That may well be true, but it did not answer the constitutional objection to binding Hall to the order w/o giving him a chance to be heard before the order issued. 

2.   Civil coercive contempt

i.   The Ct may impose jail time or fines to coerce the D’s compliance w/ Ct order.  

a.   The contemnor “carries the keys of his prison in his own pocket.”
b.   The standard of proof is clear and convincing evidence (unless Bagwell applies).  
c.   Brought by P.  Three steps: injunction issues; then penalties threatened; then penalties imposed.

1.   Judge not required to follow through on the amount set; he can be more lenient when actually imposing it.
d.   Collateral bar rule does not apply in civil contempt.  The P is not entitled to benefit from an erroneous injunction, either by recovering compensation or coercing compliance.
ii.   D can’t be kept in jail if coercion has lost its power.  Becomes improper punishment.  

a.   Anyanwu:  D wouldn’t even comply w/ court’s request to make “best efforts” to produce his and his wife’s children from Nigeria. Because he didn’t take any of the action ordered by the court, it was ok to keep in jail.  Ct says that refusal to comply is not in itself sufficient for a finding that the commitment has lost its coercive power. 
b.   Compare w/ Catena.  After being held for 5 years the ct freed the 73 year old sick D b/c it determined that continued commitment would not make him testify against his friends given his total obstinacy.   
c.   Ct can follow coercive contempt with criminal contempt so that even if the D is released b/c imprisonment is no longer coercive, D can still be punished for failing to comply in the past. 
iii.   Sometimes criminal protections can apply.   Consider:
a.   The severity of the fine,

b.   The location of the contempt occurrence,

1.   Outside the presence of the court – (necessity of the Ct to impose submission to the their mandate is strongest – and least encumbered -  where the contempt’s occurrence is before the court).  (  Bagwell: Company and labor union in dispute over unfair labor practices.  TC issues injunction to prevent union members from conducting unlawful strike related activities (they were obstructing the entrance, throwing objects and employees crossing the picket line, and damaging tires…).   TC fines the union 642k for past violations (criminal contempt), and  set future fines of up to 100k per violent breach of the injunctions. After continued violations TC issued $64mil in fines (12mil payable to company as compensatory and the rest to Virginia).  Though each case of contempt was to be proved beyond a reasonable doubt, the union was not given a jury trial.  The parties settled but the TC vacated only the fines owed to the company.  Held:  The Ct characterized the fines as “criminal” and therefore improperly imposed by the TC w/o adequate criminal procedure protections.  The necessity justification for the contempt authority is at its pinnacle where contumacious conduct threatens a ct’s immediate ability to conduct its proceedings, such as where a witness refuses to testify.  But involving out-of-court disobedience to complex injunctions often require elaborate and reliable fact-finding.  Such contempts do not obstruct the court’s ability to adjudicate the proceedings before it, and the risk of erroneous deprivation from the lack of a neutral fact-finder may be substantial. … The union’s sanctionable conduct did not occur in the court’s presence or otherwise implicate the court’s ability to maintain order and adjudication the proceedings before it.  
c.   Where a fine is not compensatory (proportionate to harm) it is civil only if the contemnor is afforded an opportunity to purge.  

1.   In Bagwell, the fines were punitive b/c they are closely analogous to fixed, retrospective fines which union members had not opportunity to purge.  The fact that the sanctions were announced in advanced did not render them civil fines.
d.   Ginsburg concurrence:  Blackman is unclear.  Use a simple test.  If the money is going to the state, criminal protections should apply.  

e.   In Kuykendall, the 10th Circ. tried to explain which civil contempt cases courts were required to give criminal procedure protections.  Bright line rule: “where the sanctions sought in contempt proceedings are solely to be used to compensate an injured consumer, the proceedings are civil in nature.”  It is unclear whether this case ultimately will require all coercive contempt fines paid to the court to be governed by criminal procedure protections.
3.   Civil compensatory contempt (in some jdxns – not CA).
i.   Court may award damages to the P for injuries suffered as a result of the D’s failure to comply w/ the injunction.  Purpose is therefore compensatory.

ii.   No right to a jury trial.

iii.   In CA you must sue for delay damages in a jury trial.

iv.   Standard of proof: Clear and convincing (but preponderance as to amount).  
III.   RESTITUTION 
A.   Unjust Enrichment.
1.   Restitution measures P’s recovery by D’s gain rather than P’s loss.
i.   P must choose b/w asking for damages and restitution.
ii.   Policy:  To deter bad behavior and to punish.  We take the incentive to do wrong away by taking the profit away so that D’s don’t benefit from their wrong. 
a.   In addition to the moral wrong, it’s wrong from an economic argument b/c it makes people have to invest money in protecting their property. 
b.   Sometimes restitution can put the P beyond his rightful position and therefore appear punitive.  
iii.   attractive to P’s in three circumstances:
a.   There is no other cause of action; (Dean Aprill example)
b.   D’s gains exceeds P’s losses;
c.   D is insolvent and P can get a preference in bankruptcy by seeking restitution through constructive trust of the specific property that used to be his. 
iv.   But keep in mind that it’s only available if the D has acted unjustly AND the D has gained through the wrongful conduct. 
2.   Restitution is both a substantive law and a remedy aimed to prevent unjust enrichment.  Major categories for restitutionary recovery:
i.   Benefits conferred by mistake.

a.   Dean Aprill’s check example. 
b.   Assessing relative culpability of the parties appears to matter most in mistake cases involving improvement of real estate.  The mistaken improvers context creates two problems that do not exist in the dean April hypo: problems of valuation and problems of liquidity. 
1.   Liquidity problem:  It could be that the barn adds 20k in value to the property, but if the D has no assets besides the house, it would be quite harsh to force the owner to move to pay for the barn he never wanted. 
2.   Valuation problem: There may be a gap b/w objective and subjective valuation.  A barn may increase the value of the D’s property but may have no immediate subjective value to him, who has no intention to use the barn or sell the property in the foreseeable future.  
3.   For these reasons, the mistaken improvers may not get paid until the D sells his home.  Obviously, there’s a different situation if you knew or should have known of it being built. 
ii.   Benefits Conferred with Defective Consent or Authority.

a.   Fraud, innocent material misrepresentation, duress, undue influence and incapacity.  
b.   E.g., Niece tells uncle he is signing to be guarantor of student loan, in fact he is signing away interest in land; or uncle intends to convey to niece a life estate but mistakenly conveys a fee simple.  
iii.   Benefits Conferred Intentionally in Emergency by Professionals.

a.   No restitution may be recovered from “officious intermeddlers” or “good samaritans.” 

1.   Officious intermeddler – violinist starts playing outside of your place and then asks for money – he forced his benefit upon you.
b.   However, a professional who confers benefits in an emergency can recover restitution; thus where person is unconscious and P helps, P deserves restitution.

iv.   Benefits conferred by K.  

a.   There are three settings that most commonly arise:
1.   When the K is unenforceable (e.g., K void on statute of frauds grounds).

2.   As an alternative measure of recovery for breach of an enforceable K.  

–    For example, the losing contract scenario.  
–    In some jdxns, the restitutionary measure cannot exceed expectation damages.  (Most relevant in losing K cases b/c otherwise the expectancy damages would be more than restitution anyway).
•    Rest 2d of contracts says K price is NOT the ceiling, but rest 3d of restitution says amount should be capped at K price. 

3.   As a remedy for the breaching party of a K to obtain the benefits provided to the non-breach party.  (Neri).

–    Again, the amount may be capped at the contract price. 
b.   Once performance is complete you can’t ask for restitution anymore; recovery is limited to expectancy damages.

1.   Rare Exception: “Opportunistic Breach of Contract.”  When there is an opportunistic breach of contract, breaching party may have to pay full profits in lieu of damages even if performance is complete. (Restatement 3d Restitution).

–    Must show (1) material breach, “opportunistic breach” (deliberate and profitable), and (2) that damages would be inadequate to protect non-breaching party’s contractual entitlement.

–    Use for particularly egregious breaches.  

v.   Benefits Obtained Through Tortious or Otherwise Wrongful Conduct.

a.   Basically, anytime the D commits a tort and benefits from it in an amount larger than damages.
b.   The most common types of cases in which P may seek a restitutionary remedy:  Trespass or conversion; misappropriation of assets; interference with intellectual property rights; breach of fiduciary duty.
3.   The greater the extent of the D’s culpability, or “conscious wrongdoing,” the harsher the measure of gains. 
i.   For example, in Olwell, the P got the most generous measure of restitution possible b/c the D attempted to bypass the market which is very very bad!  There, the P sold D his share in the company but retained ownership of the egg washing machine.  D illegally used P’s machine for three years.  Tort suit for trespass to chattel.  W/o restitution we would try to put P in the position he was in but for the wrong (the loss of machine to P).  With restitution we have several ways to measure D’s gain: (1) the FMV of the machine at the time of the wrong ($600), (2) Reasonable rental value of machine for three years, (3) The profits D received from using the machine.  $1560 – Labor savings of washing eggs by hand.  Held: If D only had to pay the reasonable rental value, he’d have no incentive not to try to steal it and do it for free.
ii.   Contrast w/ Vincent where the P couldn’t get the value of the ship saved by being tied to P’s dock b/c no bypassing of the market, no bad behavior.  The emergency created a bilateral monopoly (transaction costs too high – no time for bargaining). 
B.   Measuring the D’s gains – Types of Restitutionary Remedies.
1.   Quasi-contract (legal remedy).  
i.   Results in money judgment.
ii.   Used for example in Prof. Aprill hypo.
2.   Accounting for profits (equitable remedy).  Req’d to apportion. 
i.   Results in money judgment of the profits (as opposed to other ways to calculate D’s gain).
ii.   A less culpable D may not suffer the accounting of profits.  A more culpable D may be responsible for all the profits coming in (minus the expenses).  
a.   Maier Brewing:  P distills “black & white” whiskey and D decides to brew beer under the same name.  P’s losses include not being paid license fees or lower reputation of scotch if the beer is of low quality (speculative).  Ct gives a very generous amount to the P b/c of the D’s culpability and the difficulty of proving damages. 
b.   Note that the D in Sheldon was equally as culpable but that the judge didn’t apportion profits in Maier.  Prof. attributes this to different judges.
iii.   Apportioning profits.  Four Step Process:  IDDA
a.   Identify the revenues from the misappropriated/mixed item;

b.   Deduct variable costs;

1.   Variable costs can be subtracted out. Variable costs are only incurred in producing/working w/ the misappropriated item.  The more you sell the product the more you need it. 
c.   Deduct appropriate portion of fixed costs if allowed by Court;

1.   Fixed costs are those costs which are incurred generally in business, such as rent and overhead.  
2.   Because fixed costs are not tied to the specific item, but rather go across the entire company, the question is to what extent the fixed costs can be subtracted out.  Two step process in dealing w/ fixed cost.  

–    (1) Find overhead items that have a substantial and direct “nexus” to the production or sale of the infringing product.  (if no connection, its excluded).
•    Only overhead that has a substantial nexus to the wrongful conduct can be subtracted out; thus, for example, the Ct in Gaste rejected Fermata’s contentions that nearly 90% of its costs must be attributed to “Feelings” just b/c “Feelings” brought in nearly 90% of the company’s revenues while it had 203 other songs.
–     (2) Come up with a “fair and acceptable allocation formula” for fixed costs.


•    Hamil: D took Hamil’s design from its fabric and made its own fabric with it.  The stolen part of the D’s farbric was therefore a very significant part of the product.  Profits are thus the gross sales of the good minus the costs that the infringer proves are attributable to the production and sale of those goods.
–    Cts are less charitable to the culpable D.  The more “conscious wrongdoing” by D, the stingier the deductions for fixed cost expenses.

3.   Bought and Paid For Rule:  You can only subtract expenses you bought and paid for; you can’t subtract the value of your own labor. 
d.   Apportion profits attributable to the misappropriated item in mixed item cases (assuming low culpability) using some reasonable method of apportionment, except that some courts will refuse to apportion, awarding all profits to the P.

1.   Consider culpability and expert testimony. 

2.   Don’t need an exact amount, just a reasonable approximation.  ( Sheldon:  Ds negotiated w/ Ps for the rights to the play to make a movie but never came to an agreement; but they still used parts of the play in their movie (they also included a lot of their own non-appropriated material).  Held: Ds added a lot of their own creative work to make it a good movie.  The Ct apportions the amount of the profits that are attributed to the misappropriated asset using the aid of the expert testimonies.  TC gives 20% even though experts calculated about 10-12% - probably b/c of the culpability of the D’s who were not “innocent offenders.”
–    No apportionment in Maier Brewing.  There, the Ct just gave all of the profits.
3.   Bought and paid for rule applies here as well w/r/t the D’s reputation.  The D doesn’t get credit for the value of the product that results from his reputation.  ( Gaste:  Music was stolen but the D created the words.  Ds sought to have award reduced … Ct doesn’t care that people bought the CD b/c of the name of the singer.
–    Minority jdxn exception to rule for reputation:   In the George Harrison case, the ct determined that ¾ of the income of the infringing song was due to the music plagiarized from an earlier hit song.  The court deducted 25% for the D’s contribution of the lyrics to the infringing song and for the marketability added to the song by the fact that the D was former Beatle George Harrison. 

–    Distinguish b/w intrinsic value and reputation. Leonardo hypothetical:  Let’s say DaVinci made a million for his painting which he made after buying stolen materials. There’s no variable and no fixed costs.  So how do you apportion?  Part of the value of the painting is reputation of DaVinci, part is the quality of the paint etc…  In the jdxns that follow a strict bought and paid for rule, he would keep nothing; unless the ct considers the intrinsic value of the painting – which is not the same as reputation.
3.   Constructive trust (Equitable remedy).   Req’d for tracing.
i.   Allows for identifying specific assets (via tracing), getting the gains of those assets and getting preference in bankruptcy if necessary.
a.   Sometimes a Ct may grant the preference in bankruptcy only to the extent of P’s losses. 
b.   Snepp:  D worked for the CIA and agreed never to disclose confidential information and agreed to submit work product to gov. for prepublication clearance.  D published a book w/o it being submitted to agency but there was no confidential information divulged; therefore, we are only dealing w/ the second promise.  (The problem is that typically when we are talking about gains, we are talking about gains as a result of the wrongful conduct.  But here, the D would have been able to publish if he had submitted it, so his gains are the same regardless of his breach of K).  Nevertheless, the Ct awards a restitutionary remedy via a constructive trust, over his future profits b/c of the national security context.
c.   Equitable remedy – must show irreparable harm – though many courts ignore this requirement.
ii.   Req’s for a constructive trust in the bankruptcy context.  IFI
a.   Identifiable asset.

1.   The item need not be the same item the P’s used to own so long as every step can be traced back to the item. 

2.   Hicks:  D defrauded Ps by paying them worthless stock and an unsecured note for their home.  The problem for the P’s is that D is in bankruptcy and can’t pay all of his creditors. The secured creditors get paid first and the unsecured creditors share pro rata.  P’s don’t want to be in line w/ everyone else; they want the property back so that they can get the full value of the house w/o sharing it w/ the other creditors. Ct held that Ps are entitled to a constructive trust over the house b/c damages would be terribly inadequate.  Restitutionary remedy allows P to get back full value of home.  

–    What about rescission?  Couldn’t have rescission alone, it would need to be coupled w/ a constructive trust, in order to have the preference of bankruptcy.  

b.   Fraud/misappropriation/mistake.
1.   In Re North American Coin & Currency:  D’s were going out of business.  Nevertheless, they decide to continue to take orders for coins, placing the new receipts in a separate account in case the company does go bankrupt, which it then does.  P’s argue that their assets are identifiable since the D’s had designated this separate account.  Ct doesn’t permit a constructive trust b/c there was no fraud.  The D’s did not intend to take money knowing that they would not fulfill the orders.  There was a good faith belief that the orders would be attempted to be fulfilled.  That D’s didn’t disclose their financial situation is not enough to create fraud.
2.   Contrast w/ Teltronics where the Ps were the victims of outright fraud.  The P’s sent checks in the mail for watches that didn’t even exist. 
c.   Irreparable harm (at least in theory).
iii.   Tracing – dealing w/ the intermingling of assets.

a.   Tracing Principles:

1.   Spend the wrongdoer’s money first on bad investments – when more than his own money is used up.

2.   Spend the victim’s money first on good investments. 

3.   In bankruptcy, you can only trace to the extent of your losses (doesn’t matter if the victim’s assets have appreciated to more than the loss).
4.   When picking a fraction to attach the intent of the embezzler, the way you know what fraction to pick is by first putting the victim’s money into the investment that does well, and then the rest into the rest…whatever that fraction is … In other words, because we are dealing with fictions, there is no problem allocating just the right amount to the successful investment.

5.   Prob. 3 683: if mom goes after the apple stock she gets 3k even though she lost 6k. 

b.   Tracing requirement relaxed in family law cases. 
1.   Rogers:  At his first job, Rogers gets a life insurance policy.  He names his first wife as beneficiary of his life insurance policy.  He gets divorced but promises in K to “continue in full force and effect his present life insurance policy in the face amount of approx 15k with the wife and children as beneficiaries.”  Two years later he left his job so the policy terminated.  At a new job he gets a new life insurance policy and names his new wife as beneficiary.  P decides not to pursue the breach of K action against his estate b/c his estate has more debts than money.  Instead, wife 1 seeks a constructive trust over the proceeds of life ins. 2.  Wife one can’t identify the assets which contributed to the 15k which went towards the second life ins. policy; it’s just a coincidence that it’s for the same amount.  Nevertheless, the Ct relaxes the tracing requirement for family law cases.  
c.   Can’t trace assets to bonafide third parties, only to gratuitous donees.  
1.   In Rogers, the second wife was deemed to be a gratuitous donee.  
4.   Equitable Liens in property.
i.   Equitable remedy – must show irreparable harm.

ii.   Value awarded in terms of a dollar amount.  The amount of the equitable lien is fixed. Compare w/ a constructive trust which values the award in terms of a percentage so that if the value of the home goes up, P would be able to get a bit of the appreciation.
a.   Robinson:  Married couple builds home on husband’s parents’ lot.  After divorce, Ann claims that there was an agreement that the home belonged to the couple and Ct agrees. (Restitution action for part of the value of the house).  Ann was entitled to one-half the appraised value of the improvements less the value of the land after making provision for payments of the construction loan.  So that’s (value of entire property) minus  (value of the land) minus (value of the loan) divided by 2 because she gets a half-interest.  Ct gives P a dollar amount award which the P can enforce by selling the home.  
iii.   Ct may not permit the P to foreclose to enforce the award until after the property is sold.
C.   Restitution and K.  
1.   Reformation is a judicial rewriting of the parties’ contract putting the parties back to where the defrauded party originally anticipated. 
i.   Requires mutual mistake as to the writing, or a unilateral mistake procured by fraud.
a.   Hand:  P was an employee for Dayton-Hudson.  When they fired him they gave him a severance in exchange for signing a release form.  He took the K and added a little clause at the end that he released all claims except for the breach of K and age discrimination (fraud).  D argues that he released his claims but P shows them that there was an exception written in.  P wanted rescission so that he would give back the cash but would be able to sue for his claims.  Reformation is appropriate to make the contract reflect a full release in exchange for the 38k payment. The Ct declared that the K now reads as it did originally thus granting reformation.  
1.   The Ct thinks that the company could have rescind the K if it chose to b/c the parties had a voidable contract procured by Hand’s fraud.  However, reformation is possible only if there is something the Ct could reform…
ii.   May be accompanied by another remedy, such as damages for breach of K.  
2.   Rescission cancels the K and each side returns the consideration it has received.  
i.   Requires mutual mistake as to the substance or a unilateral mistake procured by fraud.
ii.   Reasons why buyer would prefer rescission over damages:
a.   Buyer may have lost confidence in Seller, questioning what else might be wrong in the house, and thus preferring the chance to “start over.”
b.   Buyer may not trust that the court would accurately estimate the difference b/w the purchase price and the house’s true market value. 
c.   The market may have changed during the period b/w the close of the deal and the trial, and P might want to use rescission to get out of a bad bargain.
1.   Rescission is a great remedy for P’s in a losing contract.  Rather than have to stick to the bad deal, P can undo the deal and cut her losses. (  Mutual Benefit:  Decedent was insured by his company as a “key man.”  He said that he wasn’t a smoker though he was (a material misrepresentation which would have led to the refusal by the insured to make the K if it knew about it).  Ins. Co. wants to undue the transaction; Ins. Co. would not have to pay life ins. and insured’s beneficiaries would get back premiums.  D wants to reverse rescission decision arguing that the decedent, would have gotten the policy anyway, just at a higher rate so reformation is appropriate instead. But reformation is limited to mistakes as to the writing, thus not appropriate here.  
3.   Quasi-K is another option in contractual restitution cases.

D.   Other Restitutionary Remedies
1.   Subrogation – subrogee pays off the claim of subrogor.
i.   Contrast “legal subrogation” which, despite its name, is an equitable right with “conventional subrogation” which is not equitable but rather a contractual right (seen often in insurance contracts - studied earlier in terms of the collateral source rule).
ii.   Req’s to be allowed to subrogate:
a.   Subrogee paid the debt in full; a debt for which the subrogee is NOT primarily liable.  

b.   Subrogor (that’s the Board here) had a right to enforce against the D third party and the subrogee is seeking to enforce the subrogor’s right.

c.   Subrogee may not be a volunteer to subrogate itself; it cannot be a mere stranger who has nothing to do with the transaction.  The subrogee must be paying the debt to protect his own interests and rights; there needs to be, at the very least, a good business reason to subrogate.

1.   Agency Relationship:  In American Bank, it was good enough reason that the bank wanted to keep good business relations with its client who claimed that is had not checked a box – making it lose 70k in profits in the sale of stock; so American took the 70k loss itself and then proceeded to pursue it by suing the company selling the stock and that company’s bank.  On test: State that there is or isn’t the same “compulsion” or “legal obligation” which the Ct found in American entitling American to exercising rights of subrogation.
2.   Contribution and indemnity (similar situation to subrogation). 
i.   Subrogation, contribution, and indemnity all involve the three-cornered relationship b/w a person w/ an underlying substantive claim and two persons who have potential liability on that claim.  Here, D1 pays the claim and then asserts that D2 was primarily responsible.  
3.   Replevin and ejectment. (legal remedy).
i.   Replevin: getting your property back; in addition, you get damages for loss of use while it was gone.  (Not a good remedy if the property is not in as good of shape as it used to be).
ii.   Ejectment: real property analog to replevin; recovery of specific real property.
IV.   DECLARATORY JUDGMENTS
A.   Implicitly coercive.  
1.   Like a preventive injunction, keeps the P in the rightful position by clarifying rights before the P has been wronged. 
2.   There must be an actual controversy.  There must be a real, bonafide dispute. 
i.   Don’t need to prove irreparable harm.
ii.   Particularly useful to eliminate frivolous threats of litigation, e.g., a scarecrow patent – one that is used to intimidate others to pay royalties for a patent that may be invalid or not infringing (Cardinal Chemical).

3.   Questions to ask.  How do we use these questions??
i.   What does P have to prove?

a.   Easier to get a dec judgment b/c you just need to show that there is an actual controversy.  
ii.   What does the order say?

iii.   What happens if state ignores court order?
4.   If you sue for dec. relief, and only dec. relief, you can later sue for damages or an injunction if the issue is not resolved.
i.   In other words, don’t ask for some other relief (like injunction or damages) along with declaratory relief if you think you might want to sue later….$175 million error (Mycogen case) b/c res judicata unless first action was for pure declaratory relief.
5.   A party might try to use a declaratory judgment for tactical reasons, such as forum shopping.  For this reason, courts have wide discretion whether or not to entertain declaratory judgment suits. 
i.   Personal injury cases:  Cts will not allow you to get a dec judgment in another forum to avoid being sued another state.  (The injured person invariably gets to choose the venue.  So if you get in a car accident w/ someone in another state, you can’t run to your state court to get a dec judgment that you weren’t negligent.  You have to wait for them to sue you in their state).
ii.   Younger Abstention:  Once a state prosecution is pending, a federal court will abstain from hearing the case requesting a declaration that the city provision is unconstitutional.  
B.   Other “Declaratory” Remedies. 
1.   Nominal damages.  In form, it’s a matter of compensation, but in reality it doesn’t compensate anyone.  What it really is – is a declaration as to rights. 
2.   Other remedies that can be declaratory in function, if not form:  bills to quiet title, bills to determine adverse claims, replevin, trover, detinue, ejectment, trespass, bill to remove cloud cancellation, reformation. 
V.   PUNITIVE DAMAGES
A.   Step 1: When is the conduct bad enough to merit punitive damages?

1.   P must show by clear and convincing evidence that D is guilty of oppression, fraud, or malice.

i.   Clear and convincing = greater than a preponderance of the evidence.  

ii.   Implied malice = intent to harm/recklessness, .i.e., conduct must be worse than negligent.

a.   Conduct evincing a conscious disregard for the probability of harm to others.  ( Grimshaw:  P sued Ford for the defective design of the Pinto which caused his severe injury after collision.  Ford’s conduct was “reprehensible in the extreme” b/c it “exhibited a conscious and callous disregard of public safety in order to maximize profits.” It knew that its fuel system could not meet the proposed fed safety standard and it could have been remedied w/ inexpensive fixes. 
1.   While the economic analysis of tort law encourages balancing the risk of damages with the cost preventing harm, Grimshaw  seem to be saying that you should be punished for balancing! On the other hand, you can say that it merely held that Ford didn’t value life enough.

b.   Focus on the conduct, not the name of the tort.  E.g., punitive damages might be available in an abnormally dangerous strict liability tort and you can have intentional torts where there still isn’t an intent to harm like trespass. 

2.   There must usually be an award of compensatory damages before an award of punitive damages would be permitted, but in some jdxns nominal damages are enough.  A few jdxns allow equitable relief to satisfy in appropriate cases.  Some cts will not allow punitive damages coupled with restitution.

3.   Punitive damages are usually not allowed in a claim arising out of a K.  HOWEVER:

i.   In cases where the conduct of the D in breaking the contract is also an independent tort, punitive damages are available (as well as emotional distress damages). 

a.   E.g., Medical insurance: bad faith denial of a claim is also a tort.  

b.   “Bad faith denial of the existence of a K NOT a viable option. (Freeman & Mills) 

ii.   What creates an independent tort?  Three main areas:

a.   “Special relationship” (not necessarily a fiduciary relationship)   

1.   Policy determination made by Ct.  Examples include insurer/insured, parent/child, etc…

b.   Breach of contract that causes physical injury to person or property. 
c.   Negligence in professional service contracts (e.g., accountant malpractice) in many jurisdictions.  But some jurisdictions require more than negligence (contrast fraud claim).
iii.   Justice Mosk's concurring opinion in Freeman & Mills suggests three additional categories.

a.   Breach accompanied by a traditional common law tort, such as fraud or conversion.

b.   Tortious means used by one contracting party to coerce or deceive another party into foregoing its contractual rights. 

c.   One party intentionally breaches the contract intending or knowing that such a breach will cause severe, unmitigable harm in the form of mental anguish, personal hardship, or substantial consequential damages.

1.   Most controversial suggestion.  It suggests that in a number of consumer and business contracts, where one contracting party uses sharp practices along w/ breaching the K, punitives damages should be available.  Many courts would likely reject such an extension on grounds it would interfere w/ contractual expectations.  

B.   Step 2: The D can attack the amount of punitive damages using either the State or Fed Standard (do both).
1.   Punitives are a big exception to the rightful position principle.  The purpose of punitive damages is to punish and to deter.  

i.   Jury makes initial determination of amount necessary to punish and deter (after deciding that the conduct is bad enough to warrant damages).  If the amount is too high the Ct can order remittitur, though now there is authority for the Ct to just enter judgment in lower amount.
2.   CA factors for determining whether the amount “shocks the conscience.” 
i.   Degree of reprehensibility.
ii.   Ratio to compensatory damages

iii.   Sanctions for comparable conduct.  
iv.   Amount necessary for deterrence (consider wealth of defendant).

3.   FED Constitutional limits on the amount of punitive damages.  Under the 5th and 14th amendments, punitive damages are limited by due process.  These limits are enumerated by the S.Ct.  “Hard and Fast” Factors:

i.   Degree of reprehensibility of conduct; 

a.   In BMW the jury awarded 4k in compensatory damages to the P for a car that was repainted w/o telling the P (value of car as new minus value of repainted car) and 4mil in punitives.  Ct remitted to 2mil and S.Ct cut that to 50k.   

b.   Must have a sufficient nexus b/w the D’s conduct against P and D’s conduct against third parties to introduce conduct against third party.  (Campbell).  The Ct said that in judging reprehensibility for purpose of the amount of punitive damages, a jury may consider only similar conduct that has a close nexus to the kind of bad conduct at issue in the case itself. 
1.   Out-of-state conduct or dissimilar conduct to P not considered. 
2.   The Ct in Philip Morris qualified Campbell so that the jury may take into account harm to third parties in awarding punitives, but not in the amount, i.e., evidence of other conduct is inadmissible for purposes of punishment, but it is relevant for assessing reprehensibility. Philip Morris:  P sues D for assuring people that cigarettes weren’t dangerous when it knew it caused cancer.  P’s attorney emphasized all the other Oregon smokers who had been deceived by the same ads. The Oregon Ct upheld the punitives concluding that D’s conduct was extremely reprehensible, intentionally inflicting substantial risk of serious illness or death on thousands of Oregonians.  
–    Stevens doesn’t understand this distinction; how will a jury? 
ii.   The ratio of punitive damages to actual and potential compensatory damages; 

a.   The Campbell Ct said that there were no rigid benchmarks, however it suggested that it would be the rare case where damages could exceed a 9:1 ratio of punitive damages to actual and potential compensatory damages.  In cases of “substantial” compensatory awards, “a lesser ratio, perhaps only equal to compensatory damages, can reach the limit of due process.”

b.   In an action against TXO for slander of title from a frivolous claim, the Ct upheld the jury’s award of 19k in damages and 10 million in punitives on that ground that they were not disproportionate to the damage the D might have caused, the loss of all future royalties. 

c.   In BMW, the Ct rejected a categorical approach for a constitutional “reasonableness” test.  “Indeed, low awards of compensatory damages may properly support a higher ratio than high compensatory awards, if, for example, a particularly egregious act has resulted in only a small amount of economic damages.  A higher ratio may also be justified in cases in which the injury is hard to detect or the monetary value of noneconomic harm might have been difficult to determine.”
1.   Even after Campbell, if the Ct decides that the compensatory damage are very low it would permit a high punitive amount in excess of single digit ratios.
iii.   Sanctions for comparable conduct.  

a.   If civil or criminal penalties for similar conduct are low, then a punitive award should be low as well b/c those penalties signal that the state does not consider the conduct to be too blameworthy. [compare California: precise opposite role of sanctions];  
iv.   Wealth of D can’t be used to justify an otherwise unconstitutional award. 

a.   Problem: How else are you going to deter super wealthy people or corporations?
	California standard
	Federal Constitutional standard

	Degree of reprehensibility.
	Degree of reprehensibility.

	Ratio between compensatory and punitive 
damages must be reasonable
	Ratio between actual and potential compensatory 
damages and punitive damages (but much stricter).

	Sanctions for comparable conduct .

(used to increase award).
	Sanctions for comparable conduct.

(used to decrease award).

	Amount necessary to deter.
	Wealth cannot be used to justify otherwise
unconstitutional award.


VI.   RIGHT TO A JURY TRIAL 

A.   A Fed Right – 7th amendment. 
1.   In common law cause of actions, a jury trial was provided only where the P sought damages, not for SP.
2.   In statutory causes of action, there is a two part test according to Terry:
i.   Compare the statute to the 18th century CL analogue in England, then

ii.   Examine the remedy sought to determine whether it is legal or equitable in nature.
a.   Terry:  Truck drivers were laid off so sued union under fed labor act for not adequately representing them in their breach of labor agreement action against employer.  Ct holds that in the first part of test the issue was in “equipoise” b/c it encompassed both legal and equitable issues- looks like a breach of fiduciary duty claim and a breach of K claim.  The issue is ultimately characterized as legal b/c it is action for money damages.
b.   Damages, restitution = jury trial; Injunction, constructive trust, equitable lien = no jury trial. 
3.   Where there is a case presenting both legal and equitable actions, the damages portion would be decided first in front of a jury and then the rest would be decided by a judge.
B.   CA right to a jury trial

1.   7th amend doesn’t apply to states but CA has the same right.  CA constitution applies right to CL causes of action as it existed when CA joined the union (1850).

2.   CA procedures which may be seen as infringing on the right to a jury trial by taking certain fact finding features out of the jury’s hands.

i.   Summary judgment – keeps a case from going to the jury.

a.   Judge looks at the evidence which support the facts to decide whether there is a triable issue of disputed fact.
b.   Compare w/ demur – where the judge looks to see if the P has asserted sufficient facts, assuming their true, to see if there is a viable cause of action.
ii.   Suits that require prior approval by a judge (like those involving civil conspiracy).
a.   Hung v. Wang:  P, shareholder of the corporation alleged that the Ds conspired to loot corporate assets.  Ct must first determine that the party seeking to file the pleading established that there is a reasonable probability that the party will prevail in the action.  The Ct says that “reasonable probability” could be interpreted as requiring a weighing of the evidence and seeing if P could win (in which case the statute would be unconstitutional) OR it can be interpreted as requiring judge to merely see if P has presented a prima facie case.  The Ct resolves in the ambiguity in favor of a construction that preserves the state, rather than one that renders it unconstitutional (per judicial doctrine governing construction of a law) to refrain engaging in a constitutional problem. Thus, reasonable probability equals a prima facie case not that it must be more likely than not to win.  

b.   Same sort of prerequisite rule for punitive suits against healthcare providers.
VII.   ANCILLARY REMEDIES 

A.   Preserving assets before judgment.
1.   Freeze Orders

i.   A kind of preliminary injunction that prevents a D from transferring specific assets pending judgment.  (Preserves the status quo).  Unlike attachment, a freeze order does not create a lien on the frozen assets. 
a.   Don’t forget to go through the requirements for a preliminary injunction.
ii.   Need to balance interests due to risk of error and give notice of hearing.
2.   Attachments

i.   Attachment is a levy or garnishment before judgment. 

a.   It’s more extreme than freeze order, which simply prevents D from dissipating assets pending judgment; it puts the D’s assets into the hands of the P before there has been a final judgment.
ii.   D must have (1) an intent to defraud his creditors or frustrate the enforcement of a judgment that might be rendered in P’s favor AND (2) must have assigned, disposed of, encumbered, or secreted property or removed it from the state or about to do these acts.  ( Citisource:  State wanted attachment b/c they had good reason to believe money wouldn’t be in bank after judgment.  Ct was suspicious enough of the D’s activities that it issues a freeze order.  …. Held: P cannot show intent to frustrate the judgment merely by adducing evidence that Ds have sought to withdraw money from their bank accounts.  P must show that Ds somehow have attempted to conceal their property or to place it beyond the reach of the Ct’s judgment.
iii.   Bond requirement.  As compared to prelim injunctions, attachment procedure has traditionally relied less on a prelim hearing to avoid abuse and more on liability after the fact to deter abuse.  It is therefore less likely that an attachment bond will be waived than an injunction bond.   Recovery not limited to amount of bond like prelim injunctions.
3.   Receiverships

i.   A kind of prelim injunction that allows a neutral third party to run an ongoing business, or take steps to wind it down, during a dispute involving the business. 

ii.   Two Reqs to get this “high and extraordinary remedy”:

a.   Must prove that there is a property right in the business; AND

1.   Ordinary creditors can’t get a receivership b/c there is not property interest in the business.
b.   The possession of the property by the D was obtained by fraud OR the property or the income arising from it is in danger of loss from neglect, waste, misconduct or insolvency. 

1.   Erickson:  Breach of K claim, P sought to get a constructive trust on D’s interest in real estate and have a ct appointed receiver operate the D’s water park.  P wants a receivership b/c he thinks the D will siphon money out of the business.  P proved the first element by showing that there was a special fund – it was given a warranty deed as security for additional financing; but could not prove the second element.   The TC appointed a receiver after finding that the security given to P, the deed to the real estate, was worthless; and that hundred of thousands of dollars were passing through Thunder Mountain Corp while D alleged that the could not pay b/c they did not have any assets.  Held: It’s not enough that the P has a speculative fear that the money would be diverted just b/c the D’s business created a second corp.  The TC made no findings specifically relating to diversion, malfeasance or misfeasance on the part of Ds.

B.   Collecting money judgments.

1.   Execution on assets/judgment lien on real property.
i.   To constitute an “execution” for purposes of priority, there must be a physical disabling of the property; something to give notice to others.

a.   Minority approach; don’t need to do anything to disable property. ( Moninger:  The bureau executed a writ against the car by sending a sheriff to the owner and serving the owner w/ the writ and expressly asserting his dominion over the vehicle by virtue of the writ.  In this jdxn, it is sufficient if the property is present and subject for the time to the control of the officer holding the writ, and that he is express terms asserts his dominion over it by virtue of such writ.

ii.   CA law:  A P who gets a judgment against a business may immediately file a judgment lien in the same way that secured creditors file other liens in the state over the business’s personal property. 
2.   Garnishment on wages, bank accounts, and other debts.

i.   Garnishee’s negligence makes them liable for twice the amount to garnishor. 

a.   Dixie:  Chase gets judgment against Gore (debtor).  Dixie bank (garnishee) erroneously tells Chase that Gore only had a $32 account b/c it didn’t realize that he had another account under a different name.  By the time it realized that there was another account and let Chase know, Gore took the money out of that account.  Ct held that bank was liable to Chase for double the amount of the money Gore kept in the account. 
ii.   Post-judgment discovery helps creditor find assets to be executed upon or garnished.
3.   Rare coercive (contempt power) collection of money for child and spousal support. 

i.   Any jail time must be coercive not punitive, i.e., it can’t be for a set amount of time.  

C.   Attorneys fees.

1.   American rule: Each side bears its own attorney’s fees. 
i.   Although attorneys’ fees are generally not allowed, costs generally are.
ii.   English rule:  Losing party pays all attorneys’ fees. 
2.   Exceptions to American rule:

i.   Attorneys fees provisions in K.
a.   One-way attorney’s fees provisions become mutual as a matter of public policy in CA.
ii.   Statutes sometimes provide for “reasonable” attorney’s fees to the winner, or to the winner if the winner is the P (one-way fee shifting).

a.   Step One: Are the plaintiffs “prevailing parties”?  P’s must achieve their main litigation objectives.
b.   Step Two: How do you calculate the reasonable rate?

1.   Lodestar approach:  “Reasonable hourly rate multiplied by a reasonable number of hours expended on the litigation.”
–    Attorneys submit evidence re what is “reasonable,” i.e., the market rate for attorneys w/ comparable skills and experience.  The Ct uses this input for the answer. 

–    Once the Ct decides a final amount, it adjusts that number using the Johnson factors: (1) the time and labor required, (2) the novelty and difficulty of the questions, (3) the skill requisite to perform the legal service properly, (4) the preclusion of employment by the attorney due to acceptance of the case, (5) the customary fee, (6) whether the fee is fixed or contingent, (7) the time limitations imposed by the client or the circumstances, (8) the amount involved and the results obtained, (9) the experience, reputation, and ability of the attorneys, (10) the “undesirability’ of the cases, (11) the nature and length of the professional relationship w/ the client, and (12) awards in similar cases.

•    Also consider the amount of time the losing party put in the case.
–    §1983 cases apply lodestar approach. ( Rivera: Police enter home w/o a warrant and used unnecessary physical force to break up a party that was later deemed to not even be a nuisance.  Ps sued city and police for violating some of their civil rights.  Ps sought attorney’s fees under §1988 which allows prevailing Ps in a civil rights litigation to recover attorneys fees.  Ct held that the amount of damages is a relevant factor in the lodestar approach but only a factor. 
•    Law provided for attorneys fees to the prevailing party to promote litigation of certain these of cases where damages since P would not afford to litigate w/o them. 
–    In civil rights litigation, where a court awards only nominal damages, the reasonable fee is often zero.  Even though the precedent created by such cases may be valuable, a lawyer who wants to recover fees should therefore seek more than nominal damages; for example, the lawyer might want to seek an injunction barring Ds from engaging in certain proscribed conduct in the future.  The lawyer can then point the court to the injunction as a benefit of the litigation that should entitle the lawyer to higher attorney’s fees.  Even w/o the injunction, some courts will still grant fees, relying on Justice O’Connor’s concurring opinion in Farrar noting that fees might be permissible if the litigation, in addition to earning P nominal damages, “also accomplished some public goal other than occupying the time and energy of counsel, and client.”
2.   Contingent fee approach (with or without multiplier)

–    Decreases the amount of litigation b/c only public interest lawyers can afford it.
–    One issue is how to handle non-monetary relief, such as injunctive relief.

3.   Other novel approaches (reverse auction)

–    In Synthroid, the dissent suggests a front-end approach to determining attorneys fees by reverse auction – lowest responsible bid.  Poses many problems…

iii.   Some tort actions in common fund cases, e.g., class actions. 
a.   When a case creates a common fund in which others will share, the P and her attorney are entitled to fees from the fund. 

b.   Class Action Fairness Act limits attorney fee awards in certain coupon cases to percentage of coupons actually redeemed. 

c.   Principal agent problem greatly aggravated in class actions b/c the class can’t agree to a fee, and the lawyer must negotiate both a class recovery and his own fee award.

1.   In re Synthroid:  Lawyers won millions for patients who were paying more than they should have for drugs due to concealment of data by manufacturer.  DC awards attorneys far less than they sought thinking that it would not give attorney’s same rate in mega-fund cases as it would be a windfall to the attorney.  Ct reversed b/c DC’s decision creates a principal agent problem b/c P’s attorneys could seek less than they possible for their client if it would bring a bigger contingency. 
3.   Note: Evans v. Jeff D., held that a defendant can make waiver of attorneys' fees a condition of settlement, in effect forcing the attorney to sacrifice himself for his client.
VIII.   REMEDIAL DEFENSES 
A.   Unclean Hands and In Pari Delicto

1.   Unclean Hands  (Equity only)

i.   P’s conduct is so bad he shouldn’t get a remedy.  
a.   Similar to in pari delicto, but don’t have to show that it was as bad as D’s, just have to show that it was bad. 

b.   Inequitable conduct needn’t be illegal or tortuous but must be related to the transaction at issue.

2.   In pari delicto 
i.   P is at least equally at fault for the violation he seeks to redress AND preclusion of suit would be in the public’s interest.  
a.   Pinter: P invested in D’s oil business and now he seeks to get his money back b/c the securities are worthless.  P seeks rescission on the ground that the investments were never registered w/ the SEC and these are the type of securities that had to be registered.  D argues that P’s conduct was just as bad as his so shouldn’t be able to come to court and get a remedy.  Held:  The P must be an active, voluntary participant in the unlawful activity that is the subject of the suit.  Thus, it’s not enough if all the D can show is that the P knew that the securities were unregistered; he must show that the P promoted the securities as unregistered or induced the issuer not to register.  Remanded to determine the extent of his participation.
b.   Note that there are narrower ways to read this element in Pinter.  Preclusion may merely not “significantly interfere” w/ the public’s interest; or Preclusion may just not offend the underlying statutory policies.  In Pinter, the ct held that precluding the suit would interfere significantly w/ the effective enforcement of securities laws and frustrate the primary objective of the act – to protect investors by requiring publication of material information to allow them to make informed investment decision.  There is considerable discretion w/ the Ct in all of these remedial defenses and thus in the way they want to read the elements.

B.   Unconscionability – (Ks cases only)

1.   For contracts of adhesion which are too one sided.

i.   Ct has choice of severance, striking down the entire contract, or rewriting it. 

ii.   Traditionally limited only to equity.  Today, the UCC and modern trend is to allow it to be a defense for both equitable relief and legal relief. 
2.   Technically, both substantive and procedural unconscionability must be present to some degree – more evidence of one can make up for less evidence of another – in order for a court to exercise its discretion to refuse to enforce a K or a provision therein.
i.   Procedural unconscionability focuses on the “oppression” or “surprise” due to unequal bargaining power.

ii.   Substantive unconscionability focuses “overly harsh” or “one-sided results.”

a.   Armendariz:  Employees sue D for sexual harassment; D invoked a K clause requiring arbitration of any claim arising out of an employee’s discharge.  The Ct held that the arbitration clause was unconscionable b/c it was a K of adhesion – it was a standardized K, imposed and drafted by the party of superior bargaining strength, which permitted the Ps only the opportunity to adhere to the K or reject it.  It was substantively unconscionable b/c it only required employees to arbitrate their wrongful termination claims but did not require the employer to arbitrate claims it had against employees.  Judge Mosk throws out entire K to deter people from creating one sided arbitration agreements and b/c it wouldn’t be possible to sever that provision out b/c the whole K is “tainted.”
C.   Estoppel and Waiver

1.   Estoppel.  

i.   An act or statement (or silence) by the P inconsistent w/ the right later asserted, reasonable reliance by the D on the statement, AND injury to the D.
a.   Used often in cases of fraud.  But wholly innocent statements can also be the basis for estoppel. (Of course, it would matter if what Ps said before was induced by D’s own misrepresentations or withholding of information – that’s what P’s in Geddes were trying to prove when they said they the knew nothing about golf).
b.   Though it’s an affirmative defense, it’s sometimes used by the P to defeat an affirmative defense. (e.g. Knaysi). 
c.   Geddes:  D was trying to expand his development adjacent to P’s land.  D negotiated w/ the P to get them on board w/ the development and they decided to have a golf course fairway there instead of homes causing D to change his plans accordingly.  Though there was an eight foot wall b/w P and the golf course, over a thousand balls were flying over into the home.  P sues for nuisance and trespass.  A tort defense would be consent; the remedial defense is estoppel.  Held: D relied on the P’s agreement to go along w/ the golf course right next to the home and that he would be injured if he were to change things up.   [Prof doesn’t think the case came to the right result b/c he thinks the first element wasn’t satisfied b/c the Ps didn’t realize what they were really taking on b/c they didn’t know anything about golf (and how golf balls fly far).]
ii.   Can’t raise estoppel against the gov.  

a.   We don’t want to discourage them from giving advice.
b.   Sometimes courts ignore this rule, or recast issues as waiver.
c.   Lesson:  Don’t rely on gov. statements. 
2.   Waiver

i.   The intentional relinquishment of a known right or intentional conduct inconsistent w/ claiming the right.
a.   Bimco:  Burglars broke into P’s building and stole transformers.  D’s ins. policy covered damage to the building by burglars but not theft.  Ins. co offered to pay for the damage done to the door where the burglars broke in but not for the stolen equipment.  P failed to timely file a proof of loss; absent proof of waiver of this filing deadline, P could not recover.  After the deadline expired, the claim adjuster to P’s attorney that the ins. co would not pay the loss from theft but would pay for the damage to the door caused by the breaking in of the burglars.  Held: Because the adjuster waived the formal proofs of loss for the door he waived his ability to preclude the D from entering into Ct to argue for a different interpretation of the K. 
1.   There was a non-waiver agreement which provided, “that any action taken by the company in investigating said accident shall not operated in any ways as a waiver, or invalidate any of the conditions of said policy.”  But non-waiver agreements aren’t worth much at all.

2.   It’s not clear that this was an intentional relinquishment, as this is a subjective element (subjective to insurer) especially in light of the fact that the insurer may have just been trying to accommodate his customer to keep him happy.
3.   Why not estoppel here?  The ins. adjuster doesn’t come and offer to pay until after the deadline has passed.  B/c payment of door comes after deadline, only waiver is an option.
ii.   On exam argue both waiver and estoppel b/c they are similar. 
D.   Laches and Statutes of Limitations

1.   Laches (Equity Only)

i.   Unreasonable delay by P before filing suit, AND prejudice to the D (reliance).
a.   How long is too long? There has been no single time period defined.
b.   NAACP:  The NAACP and the NAACP Legal Defense and Education Fund (LDF) were once affiliated w/ one another, w/ the LDF group created for tax purposes.  The NAACP granted permission to the LDF to use the “NAACP” name as part of its name.  Eventually the groups split and tensions arose b/w them, w/ NAACP withdrawing permission to use its name and threatening litigation to get the LDF to change its name.  Though the NAACP threatened litigation, it never brought litigation in the 13 years since the threat.  In the meantime, the LDF continued to build up name recognition and goodwill using the NAACP name.  For this reason, the Ct accepted the laces claim of the LDF, barring the NAACP from suing the LDF for infringement.  
1.   If there were ongoing settlement negotiations, neither element may have been available.
ii.   Laches applies only when P seeks an equitable remedy, BUT you can try to recast a laches argument as either waiver or estoppel.
a.   In the NAACP case, if the NAACP sought some kind of damages from LDF, the LDF would need to argue either (1) estoppel – w/ the act being the failure to sue after threatening to do so – reliance, and injury; or (2) waiver – that the NAACP’s failure to sue after asserting a right to do so 13 years earlier constituted the intentional relinquishment of a known right.  This analysis should show you that P’s conduct can sometimes be recast to fit into more than one of these remedial defenses.  But it is a bit tricky here b/c it requires a finding of estoppel or waiver primarily by a party’s failure to act.  
iii.   Sometimes a claim can be barred by laches even before the harm occurs (butterfly ballot example).
2.   Statutes of Limitations (E/L except for breach of trust which is equity only) 

i.   Where statute sets a definite time period within which to file a complaint.
ii.   Accrual – Three approaches to when the clock starts to run (depending on cause of action). 
a.   Date of wrongful act,

b.   Date of injury,
1.   The date of injury in CA is the date when you could measure the harm “appreciable harm,” 
2.   When a statute runs on date of “injury,” and injury equals “appreciable harm,” a statute can run out before P even knows he or she is injured (unless some tolling rule applies).

c.   Date of actual or constructive discovery of injury.

iii.   Continuing Violations.
a.   For claims based on injuries that continue to get inflicted over time, damages are awarded for the period of injury that accrues during that limitations period.  

1.   Thus, in the NAACP case (continuous violations of trademark), if the NAACP sued for damages (making laches an unavailable defense) how would the SOL deal w/ this kind of continuous conduct?  The LDF is infringing for 13 years, and continues infringing during the entire 13 year period.  Assuming a 3 year SOL, the NAACP is only able to get damages for the final 3 year period, looking at the date of suit and continuing back from the limitations period.

b.   Continuing violations, not just continuing harm.  ( Klehr:   D claimed that silo prevented mold from getting into silo but the cow feed got moldy.  The initial wrongful act was in 1974 w/ the sale of the silo.  The applicable SOL was 4 years and Ps brought suit in 1993.  Ps argue that there were continuing acts – additional representation made to them and others – since then.  No recovery for any damages b/c entire suit is barred by SOL.  Though the harm is continuing, there are no new violations.  Ps needed to show how any new act caused them harm over and above the harm that the earlier acts caused. 
c.   P may recover only for harm caused by continuing violation w/in SOL window, counting backwards from the time of the filing of the complaint.

iv.   Tolling – Doctrines that delay the running of the SOL.
a.   Discovery rule (not available in some jdxns/for some types of claims).

1.   Clocks starts running when you know or should know (w/ due diligence) of your injury, the cause, and the relationship b/w the two.  ( O’Brien:  D’s wrongful act occurred in 1956 – D marketed/sold DES (a drug which caused cancer in the daughters of the women that took it).  The date of P’s injury was not determined – it takes a scientist to argue when D suffered “appreciable harm,” when it could be detected – but was first noticed in 1971 when she got the hysterectomy.  SOL was two years but Penn Ct read a discovery rule into it.  In 1976, P read an article in Newsweek about DES at which point she asked the Dr. if she had cancer and asked if DES was the cause (he said it pointed to it).  Afterward, she asked her mom if she took DES and the mom denied it.  In 1979, P became aware of more articles on the relationship b/w DES and cancer and after calling her mom’s old Dr. found out that the mom did take it.  Thus, P argues that she didn’t know that the cause of her cancer until 1979 while D argues that she reasonably should have known earlier b/c the Dr. told her there may have been a connection w/ DES in 1976. Held:  For the majority, the fact that she read a news article re DES and asked her Dr. about it put her on notice to ask more questions. 
2.    Note that the discovery rule is not necessary in jdxns where the SOL accrues on the date of actual or constructive discovery of injury.
b.   Fraudulent concealment – (only relevant in jdxns that don’t have discovery rule).

1.   Tolls SOL like the discovery rule, but the reason the P doesn’t know is b/c the D has concealed the information from him.  Why not apply this to Klehr?
2.   Must show same as discovery rule and in addition that (1) the D had superior knowledge AND (2) that D made affirmative misstatements.
–    Knaysi:  P sued pharmaceutical company for birth control that caused spontaneous expulsion of the embryo.  P gets the drug;  P experiences spontaneous septic abortion;  P read article connecting the drug to septic abortions;  P learns doctor had used the drug;  suit filed.  D published information about the drug which it knew to be false and suppressed damaging information about the device’s danger.  Held:  Ct applies estoppel to D’s SOL defense.  D had superior or exclusive knowledge of certain facts necessary for the P’s cause of action and made affirmative misstatements to conceal those facts. 
–    Example:  Suppose doctor operates on patient while patent is unconscious.  Doctor commits malpractice, injuring P during surgery.  When P complains of symptoms caused by doctor’s malpractice, doctor falsely claims that symptoms are a normal side effect of surgery.  In such circumstances, courts are likely to hold that the SOL is tolled by doctor’s fraudulent concealment, until such time as the P discovers, or reasonably should have discovered, that doctor concealed the cause of P’s injury. 
c.   If you are a minority when the harm occurred, the clock doesn’t start until you reach the age of majority.
v.   Figuring out the correct SOL:

a.   State law claims governed by statute

b.   Federal law claims.  Sometimes statute imposes SOLs.  
1.   For statutes passed before 1990 that don’t expressly state a SOL, courts are to use “analogous” state law claim’s SOL.
2.   For statutes passed after 1990 that do not expressly state a SOL, 28 USC § 1658 provides for 4 year SOL.
E.   Governmental Immunities

1.   Sovereign immunity means you can’t sue the gov. for retrospective relief (damages, restitution) unless it consents to be sued (waives immunity).

i.   Federal gov. has SI.
ii.   State gov.’s have SI, but under certain circumstances Congress can abrogate state SI.
iii.   Municipalities do not have SI, but other doctrines sometimes help in their defense.
2.   SI does not prevent suits seeking prospective relief, such as an injunction.

3.   Waiver of SI.
i.   Federal gov. has waived its SI for certain torts suits in the Federal Torts Claims Act.  
a.   Can sue postal worker for running over your foot.

b.   Doesn’t cover torts involving discretionary functions – where it involves some sort of policy making discretion (e.g., how much aid to send to New Orleans after Katrina).  

ii.   The intent of the gov. to abrogate its SI must be made unmistakably clear.

4.   You can sue the gov. official in his personal capacity for retrospective relief b/c he is personally liable for damages.

i.   Still, there are some immunities even for gov. officials sued in their personal capacity.
a.   Absolute immunity.

1.   President gets AI for anything involved w/ his official acts. 

–    Clinton v. Jones involved personal acts…

2.   Judges get AI for anything involved w/ their official acts.  

–    Stump:  Suit my young girl against mother who sought judge’s order and judge that ordered girl to be sterilized w/o her knowledge when she was 15.  Only way to get around this would have been if there were a statute that specifically said that a judge can’t issue the order that he issued or if there was no jdxn.  
3.   Prosecutors get AI for prosecutorial functions.

–    AI for actions as prosecutor (e.g., deciding who to indict, how case is tried) and QI for actions as investigator or administrator.
–    Example of creating fraudulent evidence (QI) versus presenting fraudulent evidence (AI).
4.   Members of Congress get AI under for actions related to legislative functions.  

–    Doesn’t extend to republication of materials (Gravel case) or bribes (10k in freezer case).  

b.   Qualified immunity – for executive officials in general. 

1.   Harlow objective legal reasonableness test for QI:  Gov officials performing discretionary functions are shielded from liability for damages UNLESS their conduct violates clearly established statutory or constitutional rights of which a reasonable person would have known.

2.   Three ways to show a “clearly established right.”  

–    Controlling authority in the jdxn;

–    A consensus of cases of persuasive authority;

–    Unconstitutionality that is too obvious to have been litigated. 

c.   No immunity: Suit against U.S. postal worker in personal capacity for negligently running you over with mail truck.  Not only can you sue in personal capacity but official too.  (Why might you prefer to sue government rather than postal worker?  Could sue both under principles of respondeat superior.)
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